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Remedies, Outlines


Introduction
I. Types of Remedies

1. Compensatory (focus on Π’s loss)

a) Damages

2. Coercive, preventive (coercive b/c backed up by the power of contempt)
a) Injunction

3. Declaratory (implicitly coercive)
a) Declaration

4. Restitution (focuses on Δ’s gains)

a) Substantive law – whether Π should get anything (unjust enrichment)?
b) Remedy – how much should Π get? 

5. Punitive

a) Not to compensate Π, but to punish and deter Δ
b) Issues is when should we punish and deter through civil and not criminal?

6. Ancillary

a) Helping remedies

II. Conceptual Question

A. Should a person that has been wronged be entitled to damages?  Why?

1. Corrective justice

a) Make the Π whole again
b) This is a moral argument

2. Economic analysis – purpose of law is to maximize value of conflicting activities (profit maximizing)
a) Law should generally encourage profitable activity, 
(1) Even activity that harms other, so long as violators pay for the damages they cause

(a) Productive activity that is profitable even after payment of all the costs it imposes on others is said to be efficient
(b) Other activity is inefficient or uneconomical

b) Classical economic view – function compensatory is to force violators to take account of harm they inflict

(1) If damages they must pay <  harm they inflict – Δ’s will violate the law, even when it is inefficient 
(2) If damages they must pay >  harm they inflict – Δ’s will obey the law, even if it is inefficient 

(a) ( damages should be set exactly equal to harms inflicted 
(i) Then if illegal act’s expected profit > expected damages, actor should go ahead 

Damages 

III. General 
A. Damages in general
1. Rightful position standard – put the person in the position that they would have been in, but for the wrong

a) If Π had not been wronged, what position would they be in?
(1) Tort – position Π would have been in, if there was no tort
(2) K – position Π would have been in, if K was fulfilled 
2. Damages are often referred to as being substitutionary

a) B/c they substitute cash for what Π lost

(1) Sometime, may be direct as in damages for lost income or to buy a replacement horse

(2) Other times less direct as in mental anguish
3. One-satisfaction rule

a) Π may be entitled to judgment on multiple legal theories and against multiple Δ’s

(1) But entitled to only 1 recovery for each item of damages

(a) Bender v. City of NY – in a case of multiple Δ’s, multiple counts w/ damages for emotional distress, could not compensate for the same emotional distress more than once under different counts
(2) Π collects a judgment from 1 Δ, cannot collect it again from any other
(3) Π settles w/ Δ b/4 trial, other Δ’s entitled to credit against any later judgment for same damages 

(a) Pro-tanto rule – dollar for dollar credit

(b) Share of liability rule - % of liability 

IV. Measuring Damages 
A. General

1. Damages can be calculated w/ reference to:

a) MV of lost or destroyed item

b) Difference b/t the value of an item before and after it was damaged

c) Difference b/t what was promised and what was received (expectancy value)

2. Damages can consist of:

a) Reliance AND/OR

b) Expectancy 

(1) H/w expectancy damages are only available if there is a promise involved 

(a) ( usually only involved in K cases 

3. Damages are to be determined by reference to MV

a) What is the proper measure of MV?

(1) Evidentiary question

b) IS MV the proper measure of damages?

(1) Conceptual question
(a) If we are not going to use MV, what are we going to use?

c) If h/w repair/replacement is cheaper, then that is used instead of MV

4. Limitations on Damages

a) Has there been individualized determination

b) Can damages be proven w/ reasonable certainty

(a) US v. Hatchley – law required that government give notice before removing trespasser’s property.  H/w government did not give notice and just removed horses and burros.  TC awarded 3 different types of damages to Π’s.
(i) Error for TC to award damages based on what value of lost property on what they could have been traded for w/in the community, b/c were suppose to use MV.  Emotional distress is proper, but must make an individualized determination instead of a communal determination.  Consequential losses is proper, but must be shown w/ certainty.
B. WHEN are damages calculated?

1. At the Time the Loss Suffered
a) Generally 

(a) Trinity Church v. John Hancock Mutual Life Insurance Co. – church is damaged by Δ’s negligent construction.  Church is sinking and will be useless in a couple of hundred years.  It is currently at ¼ of its total life and ( would normally have ¾ remaining.  H/w b/c of Δ’s actions, only have 1/3 remaining.  Determined that it would cost $4,000,000 to return church back to ¼ position.

(i) CT held that it was proper to calculate and award damages

b) Exception – items that have fluctuating values over time

(a) Stocks – highest value b/t the time of the loss and the time of the trial

(b) Crops – at time of loss = 0, therefore the value is at the time of harvest

(a) Decatur County Ag Services, Inc. v. Young – negligent spraying insecticides caused injury to Π’s crops.  Π held crops over and then sold them later for a higher price (as opposed to selling them right after harvest).  CT awarded damages calculated at the time of harvest.
(i) Normally, damages calculated at time of loss, but in case of crop, value at time of loss is 0.  ( it is proper to award damages at time of harvest.  Though it may have been normal procedure for Π to sell them after the harvest, that does not matter and time of harvest is the time for awarding damages.

C. HOW are damages calculated? 
1. When the market is functioning properly, use the MV to determine damages 

a) Π is entitled to be made whole, but Δ is usually entitled to have Π made whole in the least expensive way
(1) Generally 

(a) US v. 50 acres of land – government took land to prevent flooding and ( under takings clause must give just compensation.  Replacement value was $700,000, MV of land itself was $225,000.  CT awarded MV of land itself, not replacement value.

(i) Since replacement was better then old land, to pay the higher amount would be giving them a windfall.  Also, in a properly functioning market, to award the replacement value and then discount the added benefit would result in the lower value anyway and ( for administrative ease, award the lower value.

(b) O’Brien Bros. v. the Helen B. Moran – Π’s barge was sunk by US during Π, when barges were not for sale.  Π spent $7,000 to raise the barge and $43,000 to repair.  TC awarded $50,000.
(i) US argued that it was too high, b/c barge bought 12 years ago for $45,000 and after depreciation was worth $16,000.  Therefore it was unreasonable to spend $43,000 to repair a $16,000 barge.  CT agreed 

(2) Exceptions 

(a) Cost of replacement will be awarded when it is of a component of a larger whole.

(a) US v. Ebinger – careless plumber burned down a cooling tower that was essential to the air conditioning of a government office building.  What’s the difference b/t the cooling tower to the government building to the barge and the barge fleet?

(i) Abandoning one does not result in abandoning the whole 

(b) Sometimes value exceeds replacement cost 

(i) Where producer expects to make a profit from a sale of a product produced

(a) ( if Δ destroys your goods entitled to MV and not merely cost incurred to produce them 

(3) However, price paid by party does not necessarily mean that that is the price for MV

(a) If the price is very low, may mean that the market is not functioning properly
(a) King Fisher – Π bought a barge for $30,000 and Δ caused the barge to be sunk.  There are only 6 of those types of barges left in the entire world and none of them are for sale.  Cost to repair would be $230,000.  CT awarded the higher cost of $230,000.

(i) It was proper, b/c when looking at the MV, can’t look at what the party paid for.  Must look at the entire market and determine what the MV is.  The real MV in this case would probably have been greater then the repair cost and therefore it was proper to award the cost of repairs.

2. H/w cannot use MV WHEN there is: 

a) Would result in manifest injustice to owner or public 

b) Emotional harm

(1) What satisfies the jury and what the AC judge believes is reasonable 

c) Not generally for sale (roads and sewers)

(1) Then repair and replacement is the only remedy

d) Special purpose

(a) Trinity Church v. John Hancock Mutual Life Insurance Co. – church is a historic landmark and ( is a special purpose.

(i) Since it is a special purpose, MV would not be a proper value for a remedy and therefore must look at the repair/replace value 

V. TYPES of Damages 

A. Reliance Damages 

1. Injury that Π has suffered b/c of Δ’s wrongdoing 
B. Expectancy Damages
1. Amount that Π would have recieved if K was fulfilled 

a) Only available in K cases

(1) Though tort may have involved breach of promise, expectancy not available 

(a) Exception – recent, move away from strict and award for fraud if fiduciary R/S
(a) Smith v. Bolles – Π purchased stock, but was defrauded.  Π argued that he should get expectancy damages. 
(i) CT awarded him only reliance (what he had spent) and did not award him expectancy, b/c this was a tort case.

2. Expectancy is the usual measure of damages in K cases
a) General 

(a) Neri v. Retail Marine Corp. – parties entered into K for sale of boat, but Π breached.  Π had put in a deposit and ( sued to get back deposit (restitution).  Δ was also able to sell the boat.
(i) Δ is awarded reliance damages (storage fees) and expectance damages (profit) b/c he is a lost volume seller.  Since the deposit is greater then the total damages, Δ must remit part of it to Π.

(b) Chatlos Systems, Inc. v. NCR – Π was promised a computer system and paid money for it, but the computer failed to deliver and therefore sued for breach of warranty.  

(i) Awarded expectancy (what was promised) and reliance (difference b/t what was promised and what was received).  This was a huge difference, but it was nevertheless awarded
b) Exceptions

(1) Doctors – belief that expectancy would over-deter doctors, only reliance awarded 

(2) Expectancy not awarded when reliance is used as a substitute for consideration
(a) Ricketts – grandfather promises granddaughter money and this is a gift, there is no consideration involved.  Granddaughter quits job and does not receive the money

(i) Reliance used as a substitute for consideration and that is what is compensated

C. Consequential damages
1. General 
a) General v. Consequential damages 

(1) General – refers to the value of what Π lost from the initial impact of Δ’s wrongdoing 

(2) Consequential – refers to everything that happens to the Π as a consequence of the initial loss
b) Traditionally, there has been a fear of consequential damages 

(1) Consequential damages may be too large and may swallow up the general damages

(2) Speculative

(3) Avoidable

(4) Causation problems

2. Consequential damages are available in breaches of K

a) General – consequential damages must be reasonably foreseeable, unavoidable and certain 
(a) Buck v. Morrow – breach of a lease w/ 2 years left and K stated that party would compensate for the breach.
(i) Award of “consequential damages” was proper.
b) Exception 
(1) K around it (exclude consequential damages via K)

c) Limitation – when damage consists of nonpayment of money
(1) Then consequential damages limited to interest at prevailing rate 

(a) Meinrath v. Singer Co. – Π was denied bonuses and b/c of not receiving bonuses, financial projects suffered.  Π informed Δ that bonuses were needed and ( Δ had actual knowledge of Π’s situation.
(i) General rule is that consequential damages are available for a breach.  H/w there is a problem of causation in this case.  Also, damages for nonpayment of monies consists of interest rates.  ( consequential damages limited to interest 
(2) Rationale for rule

(a) Administratively easy

(i) Determination of prevailing interest rate and amount of damages is easy 

(b) Proximate cause issue

(c) Consequential damages can be huge 

(d) Speculative damages

(e) Raise the cost of K (don’t know what damages for breach of K is going to be)
(3) Exception to the Limitation 
(a) Refusal to pay money was in bad faith and therefore a tort 

(b) UCC – interest-only rule for banks that fail to execute orders to transfer funds
(i) Exception – consequential in extraordinarily narrow cases, where:

(a) Bank has received funds

(b) Refuses to pay them to the beneficiary of the payment order

(c) Beneficiary makes demand and gives notice of consequential’s
(d) Fails to prove that its refusal was based on a reasonable doubt 
(c) Breach of K to loan money, when sufficiently foreseeable 
(a) St. Paul at Chase Corp. v. Manufacturers Life Insurance – Δ breached commitment to refinance an apartment building.  Π could not refinance elsewhere, the original lender foreclosed and Π suffered a $1.3 million deficiency judgment, judgment had accrued $250,000 in interest and also lost the benefit of several hundred thousand dollars spent in reliance on loan commitment 

(i) Therefore recovered everything 

3. Consequential Damages and the UCC
a) General

(1) It is permissible for parties to K around damages

(a) Generally, enforceability of provisions dependent on:

(i) Whether clause is written in a way that is understandable to lay person (CA)

(ii) Nature of the K and the nature of the limitation 

(iii) H/w if there is no remedy available at all, then that is not permissible 

(a) Tunkle – exculpatory clauses are not permissible for essential services and products (i.e. housing, food, health) but are permissible for nonessential services (i.e. skydiving)

b) UCC provisions 

(1) § 2-719 (2) – where circumstances cause exclusive/limited remedy to fail its essential purpose

(a) Other remedy may be had as provided in the act

(i) § 2-714 (3) – consequential damages are available 

(2) § 2-719 (3)

(a) Limitations for consequential damages for personal injury is prima facie unconscionable

(b) Limitations for consequential damages for commercial losses are permissible

(i) Generally 

(a) Kearney & Trecker Corp. v. Master Engraving – Π purchased product for $167,000, based on warranties that there was “amazingly low maintenance requirements.”  K stated that there was no consequential damages and that the exclusive remedy was repair/replace.  Machine continued to break.  Π argues that though there was a disclaimer for consequential damages, they shoudl be awarded b/c the limited remedy had “failed of its essential purpose.”
(i) CT found that Δ had breached the warranty.  H/w CT rejects Π’s argument and states that consequential damages are not available.
(ii) H/w some CT’s say unfair b/c no remedy and ( awarded consequential
(a) But is it true that buyer is left w/ no remedy?

(i) No, b/c expectancy damages are available (as in Chatlos), 

4. No warranty permissible?
a) Is this permissible?

(1) There must be some kind of remedy and therefore would probably not be permissible

VI. Limitations on Damages
A. Generally

1. Proving damages 

a) Certainty – must prove damages w/ reasonable certainty

(1) i.e. lost profits for new business

(a) Traditional – per se rule not recoverable b/c too speculative and many new businesses fail

(b) Today – not a per se rule, but still need to prove it

b) Actual cause – but for test, damages were caused by Δ’s act

c) Proximate cause/foreseeability rule

(1) Cheapest cost avoider 

2. Parties power to specify remedy 

a) Arbitration clauses

(1) Right to jury trial may be waived

(a) Enforced so long as there is no procedural unconscionability 
b) Exculpatory clauses 
(1) Enforceable 

(a) Exception

(i) Affects public interest

(ii) Basic necessity of life

(iii) Medical arena 
c) UCC 

(1) Per se unconscionable to waive remedy for personal injury
(2) Ok to waive remedy for commercial losses 
d) Liquidated damage provisions 
3. Judicial limitations on damages 

a) Avoidable consequences

b) Offsetting benefits

(1) Exception – collateral source rule 

c) Scope of damages

(1) Economic harm rule

(a) Exception – if the only type of possible harm is economic 

B. Proving damages 

1. Cheapest Cost Avoider 

a) Damage will not be awarded if the Π was the cheaptest cost avoider 
(i) Hadley v. Baxendale – 

(ii) Evra Corp. v. Swiss Bank Corp. – Π was chartering a boat for a specified length of time.  K had a provision that stated that if payment was late, the K can be cancelled.  Payment was late b/c of fault of Bank.

(iii) There are involved both general and special damages w/ failure or late payment of fees transfers.  H/w since Π was the one that had more information and was in the best position to avert the consequences, but failed to do so, Δ is not liable (best able to avoid the harm)
C. Parties power to specify remedy 

1. Liquidated damages 

a) Liquidated damages – parties stipulating to an amount for consequential damages 

(1) In the event of a breach, party must pay $X

(a) In this way, parties are determining what the damages should be and staying out of CT

b) CT’s attitude 

(1) Traditionally – CT’s have not liked liquidated damages, especially if it looks like a penalty

(a) It is the CT’s providence to punish people

(b) Deters efficient breaches

(2) Recent shifts – economist say that CT’s should uphold liquidated damages 

(a) Parties to the K know the K better than the CT’s

(i) ( if party does not want to breach in future (believes no efficient breaches), then party knows best and will enter into liquid provision

(ii) Thus, if party wants to preserve right to breach, will not agree to liquid provision 

(b) H/w CT’s are still a bit reluctant to enforce liquidated damage provisions

(i) Fear that there is possible oppression 

(a) Berlinger v. Suburban Apt. Management Co. – Δ rented an apartment for $210/month and dept a motorcycle in violation of the lease.  Liquidated damages was $50/day. 

(i) Though prohibition against motorcycle may be valid, held that $50/day bore no relation to landlord’s damages and held the clause to be void as a penalty 

c) Requirements for liquidated damages (a bit contradictory)

(1) Amount must be reasonable in light of actual or anticipated losses AND

(2) Actual damages must be difficult to compute

(a) Conflict b/t purpose of liquid provision, b/c must go to CT to show that it is reasonable

(i) Thus, must prove what you were trying to avoid proving

(ii) H/w if CT does not examine, then rule against penalty becomes illusory

(a) Ascraft & Gerel v. Coady – if Δ breaches K, then must pay liquidated damages.  Δ breaches and claims that the liquidated damage provisions are an unlawful penalty.
(i) CT upholds liquidated damage provisions

(3) H/w when K states several obligations of different importance AND

(a) Liquid provisions provides same liability for breach of any of them

(i) Clause is a penalty and not a reasonable attempt to measure damages  

(a) H/w this rule is oftentimes ignored by CT’s

(4) Generally, if no actual damages,

(a) Then liquidated damages clauses will not be enforced

(i) Even though damages may have been hard to measure at the time of contracting 

D. Judicial limitations on damages 

1. Avoidable consequences = mitigation
a) General 

(1) Duty to mitigate is not strictly duty, b/c party cannot sue other party for breaching duty to mitigate
(a) ( breach of duty to mitigate means that CT will treat party as having mitigated 
(2) Basic idea is not to waste resources for no one’s benefit

b) Rules 

(1) May not recover damages for avoidable losses
(a) There is no duty to mitigate

(i) But CT will treat party as if they mitigated 

(a) Rockingham County v. Luten Bridge – parties entered into K to build bridge and when Π incurred cost of $1,900, Δ breaches.  Π continues to build.
(i) CT treats Π as having mitigated and does not award the costs incurred, but only the profits that they would have earned.
(2) Must take reasonable steps to mitigate 
(a) For example 

(i) Stop unnecessary work

(ii) Make reasonable resale

(iii) Obtain substitute performance

(b) Does not mean that party must take every conceivable step

(i) But only reasonable steps

c) Employment 

(1) Inferior OR

(2) Too different

(a) Difference ≠ some difference, b/c OTW rule eat itself up.  ( seems that rule is used to:

(i) Protect professionals from going into “inferior” positions AND

(ii) Does not seem to apply to blue-collar workers 
(a) Shirley McLain Parker v. 20th Century Fox Film Corp. – entered into K for a film, but Δ breached.  Δ then offered Π a role in a different film.  Π refused to take that position.
(i) 2nd job was not comparable and therefore there was no duty to take it.  There is no duty to take a job that is inferior from previous job
d) Avoidable consequences – why Rockingham makes sense

(1) From Π’s POV, damages consists of profits and ( would be equal in both cases

(a) Only difference is that Δ has to pay more damages in the 2nd case.  

(i) That is unreasonable.  That is just piling on damages

(2) Conclusion – a rule of no mitigation leaves Π (who understands the rule) no better off (i.e. same $8,000 profit either way), but leaves Δ worse off: total damages of $18,000 rather than $9,900

2. Offsetting benefit 

a) General 

(1) Benefit available, that otherwise would not have been available but for the breach

(2) Closely related to mitigation 

(a) B/c benefit conferred is opportunity that Π must take to be fully compensated

(i) Mitigation – assume that you take reasonable steps

(ii) Offsetting benefits – what you get for taking steps to mitigate

b) Issues 

(1) Valuation of the benefit (how much is benefit worth)
(2) Whether it really is a benefit 

(a) Some formulations, limitations resulting in that only some benefits are taken into account

(i) R2d Torts –only those benefits “to the interest of Π that was harmed”

(a) Offsetting benefit 

(i) i.e. surgeon operates w/o consent and causes pain and suffering may show that the operation averted future pain and suffering 

(ii) i.e. if defamation Π alleges lost income, Δ may show that the publicity enabled Π to earn large lecture fees

(b) Not offsetting benefit 

(i) H/w if defamation Π alleges only emotional distress and loss of reputation, lecture fees are irrelevant

(ii) H/w if false imprisonment Π alleges only pain and humiliation, Δ cannot show that the press paid Π large sums for his story 

(ii) No comparable limitation in R2d of K

c) Exception – Collateral Source Rule
(1) Arguments for and against:
(a) Arguments For:

(i) Want to encourage insurance, 
(a) B/c of cases where tortfeasor will be unknown or judgment proof

(ii) B/t innocent Π and a culpable Δ, it is better that Δ pays and the Π gets a windfall

(iii) No necessity of a double recovery, b/c insurance K’s allow for subrogation

(iv) Militates against other factors in tort cases (i.e. contingency fees)
(b) Arguments Against

(i) Possibility of double recovery, b/c no subrogation requirement 

(ii) No reason for a special exception for these kinds of offsetting benefits

(iii) Collateral source should not be used to solve problems 
(2) General rule – compensation for injuries from a source wholly independent from tortfeasor 
(a) Such payment should not be deducted from Δ’s damages 
(b) Collateral source rule applies, regardless of whether there is a subrogation clause or not

(a) Helfend v. Southern CA Rapid Transit District – Π was injured in a bus-auto collision and sued and received damages.  Δ claims that damages should be reduced by amount that Π received from insurance, b/c otherwise would be double recovery

(i) If an injured party receives some compensation for his injuries from a source wholly independent of the tortfeasor, such payments should not be a deducted from the damages which the Π would otherwise collect from the tortfeasor 

(ii)  Tortfeasor should not get a benefit from insurance that Π had and many policies have subrogation clauses and therefore affirmed 
(c) Variations – some CT’s focus on character of benefits received, not on the source 

(a) Molzof v. US – Π was permanently disabled b/c of medical malpractice of VA hospital.  Π received free medical care and under the Federal Tort Claims Act, $1.3 million for future medical expenses 

(i) Free medical services is b/c of status as veteran and $1.3 million is collateral to his status as a veteran and therefore collateral (even though source is the same)

3. Economic harm rule 

a) General Rule – economic harm only recoverable if there is property damage or physical damage
(1) Not just a factor to be considered

(a) Mechanical rule that states that if Π did not suffer physical impact, cannot recover

(i) No matter how foreseeable the harm or how direct the causation 

(a) Pruitt v. Allied Chemical Corp. – chemical spill
(i) CT says that it is an arbitrary line based on a sense of fairness.
(b) Louisiana ex rel. Guste v. M/V Testbank – chemical spill resulting from a ship collision in the mouth of the Mississippi River.  Accident resulted in loss to the fish industry (similar to Pruitt) and also resulted in the mouth of the river being closed for 2 weeks, causing losses to ports and industries that depended on the river

(i) Though there was a reconsideration of the economic harm rule, believed that it provided a desirable bright-line test and that it was more efficient for firms to buy insurance for disruption of their own business instead of insuring against all possible economic harms that might result from a single act

(ii) Also, unlimited liability will lose deterrent effect if it is too big 

(c) People Express Airlines, Inc. v. Consolidated Railroad Corp. – tank car spill forced airline to evacuate its offices for 12 hours, resulting in cancelled flights and lost reservations for future flights

(i) Rejected economic harm rule and instead limited liability to particular foreseeable harm to an identifiable Π’s or class and therefore airline next to RR track can recover, but travelers on highway near the spill cannot (presence of some travelers inevitable, but of any particular traveler fortuitous) 

b) Way of saying that A can K w/ B w/o incurring a duty to others who have K’d w/ B

(1) Generally 

(a) Bryant Electrical Co. v. City of Fredericksburg – owner of land K’s w/ architect for blueprint and w/ a builder to build the project, pursuant to architect’s plan.  Suppose the builder loses money b/c of architect’s negligence?

(i) That is economic harm w/o physical impact and therefore is not recoverable.  The architect owes not duty to the builder 

(2) H/w may leave some parties w/o a remedy
(a) In re New England Fish Co. – fish processor’s negligence drove a fish company bankrupt.  Fish broker who had paid the fish company for the spoiled fish.  What was his remedy?

(i) Broker’s K claim against the fish company was worthless (judgment proof) and negligence claim against fish process was bared by the economic harm rule (no physical impact)

c) Exception 

(1) When only type of harm that can occur is economic harm, then rule does not apply

(a) Hypothetical – accountant is doing your tax returns and there is a big mistake, which results in a tax penalty.  Can the accountant say that it is economic harm and therefore not liable for damage?

(i) No, exception to the economic harms rule, when the only type of harm that can occur is economic harm, then the rule does not apply

(2) Statutory exceptions 

(a) Oil pollution act – imposes statutory liability for oil spills in navigable waters.  

(i) Damages include “loss of profits or impairment of earning capacity due to the injury, destruction or loss of real property, personal property or natural resources, which shall be recoverable by any claimant”

VII. Non-Economic Damages 
A. Setting NED
1. How juries set NED?
a) Jury instructions state basically, “Give money to adequately compensate Π for pain and suffering.”

(1) Jury has nothing to base their award of damages and ( counsel will like to suggest #’s.

(a) Π – use of per diem method, b/c if the amount is broken down and then increased ($5/day for 24 years will equal $438,000) it is easier for the jury to get a grip around the numbers

(b) Δ – uses instead the big picture argument, that for this injury, is it right to give such an exorbitant amount of $438,000, when all their medical bills, wages, etc. have already been taken care of?

(2) Per diem arguments 

(a) Against

(i) Jury verdict be based on evidence b/4 it and per diem argument  
Allows jury to calculate damages based solely on argument of counsel

(ii) Unfairly assumes that pain is constant, uniform and continuous 

(iii) Creates an “illusion of certainty” in disability 

(iv) Jury will be too easily misled by Π’s argument 

(b) For 

(i) Sufficient safeguards exist in adversarial system to overcome objection to its use 

(ii) Π’s hypothesis must be reasonable or suffer serious attack from counsel

(iii) Idea pain is constant/uniform refuted by opposing counsel or experience

(iv) Juries are entitled draw inferences from the evidence before them 
(a) Damages attributable to pain/suffering is a permissible inference 

b) When counsel is suggesting or arguing damage claims, there are 2 DON’T’s 

(1) Golden Rule

(a) How much would we have to pay you to suffer the injuries that the Π suffered?

(b) How much would you pay if you were the Δ and had to compensate the Π for injuries suffered?

(i) Disallowed, b/c it is a plea to the jury to abandon neutrality

(2) Market Value

(a) How much would it cast to hire someone to suffer the injuries that Π has suffered

c) Tort Reformers
(1) Have focused on the NED’s, trying to place a cap on it

(a) CA – medical malpractice is capped at $250,000

(i) Medical malpractice rates very low in CA and now there is a move to try and make it a nationwide practice

(a) But the arguments are whether it is fair and whether the cap is the reason why rates are so low

2. How do Judges Police NED?
a) Issues

(1) What factors do we look at when deciding whether one case is more or less severe?

(2) Should case be compared to only similar cases?

(a) Levka v. City of Chicago – strip search case.
(i) Judge ranks emotional distress in other strip search cases and then compares the amount of damages awarded.  Since amount seems to be too high, CT ordered a remittitur

(b) Zarcone v. Peres – bad tasting coffee and the judge had the vendor in cuffs, marched through the courthouse and reprimanded publicly and caused humiliation, and award was $80,000

(i) Which one is worse and who should have gotten more?

b) Remittitur 
(1) Choice given to Π, either (1) have a new trial on damages OR (2) remit part of the verdict 
(2) Arguments that the remittitur is a denial of the right to trial by jury in the federal courts

(3) Dangers of new trial

(a) Δ knows strategy and can plan accordingly

(b) Judge may issue another remittitur again if the amount is high

(i) Though there are cases where judge has accepted higher 2nd award 

(c) May result in a lower damage award

(d) Only issue for new trial is damages and ( can’t play off of Δ’s bad 

(4) Powerful tool for the Δ
(a) If Δ requests remittitur, then there will be settlement negotiations 
(i) If Π thinks that it will be granted, then may go for a reduction

c) Additur
(1) Not permissible, b/c no jury has awarded the higher amount

(a) At least remittitur, jury went thru lower amount on getting to their higher damage award 

(i) Therefore doesn’t seem as bad 
(b) H/w in increasing it, going someplace where jury has not even considered 
(i) Therefore it is not permissible

(2) If the judge really thinks that the award is too low, the judge can order a new trial

(a) But this is different then a remittitur, b/c there is no choice involved

B. Emotional Distress
1. Emotional distress traditionally recoverable in intentional tort

a) H/w  not recoverable in negligence w/o some additional threshold showing: 

(1) Π who suffers physical injury
(2) ½ states permit bystander recovery 

(3) ¼ states permit w/in the zone of physical danger 

b) Sometimes CT’s allow recovery for

(1) Diagnosable AND

(2) Medically significant 

2. Emotional distress is generally not compensable in K

a) Exception – bad faith and breach of an insurance K as a tort 

(1) Though began to be expanded to other K cases where there was power imbalance b/t parties

(a) It has more or less died 

3. Evidence – substantial or medically demonstrable emotional distress (in NIED)
a) Π’s testimony was sufficient in IIED cases

(1) H/w CT’s now deny relief in absence of:

(a) Physical symptoms, 

(b) Medical or psychological treatment or 

(c) Testimony from other’s who observed Π
C. Wrongful Death
1. General 

a) English CL – only recovery for pecuniary losses 

(1) Difficult problem, b/c under English CL, could not get damages for a wrongful death

(a) Exception – husband could get damages for lost services from wife and children

(i) To get around this, many wrongful death statutes passed, but still very limited

(2) Various distinctions re: recovery emerged from efforts to interpret the phrase “pecuniary loss”

(a) Which appeared in the original English wrongful death act

b) It is better to be injured then killed from the Π’s POV

(1) Better to kill then injure from a Δ’s POV

c) There are also issues re: whether spouse and children can recover or sue in their own rights

d) Emphasis on financial support left 3 classes of persons whose death caused little recoverable damages

(1) Children, retired persons and adults w/o dependents 

(a) ( driven expansion of recoverable damages to include society and intangible services 

(i) Whether or not there is recovery depends on the state statute 

2. Amounts recoverable 
a) Jurisdictional recoveries 

(1) All jurisdictions provide for:

(a) Funeral expenses

(b) Compensation for financial support that decedent would have provided to dependents

(2) Most also permit

(a) Monetary value of services that would have provided to spouse, dependents or parents 

(i) Household chores, homemaking, nurture, training, education, etc.
(3) Smaller majority 

(a) Permits dependent to recover for loss of “society” 
(i) May include love, affection, care, attentions, companionship, comfort, etc.
(ii) H/w limited to positives and ( don’t allow recovery for emotional distress, etc.

(4) Few jurisdictions

(a) Expressly allow compensation for grief and emotional distress

b) Additional recoverable items 
(1) Inheritance

(a) If decedent’s earnings large enough to accumulate surplus beyond what would be spent 
(i) That surplus cannot be recovered as loss of support

(a) H/w may be recoverable under loss of inheritance 

(i) Some states deny recovery b/c too speculative 

c) Methods of calculations 

(1) Recovery for the value of decedent’s life to himself (3 states)

(a) Does not seem to make a different in calculating 

(2) Value of the relationship 

(a) Woodbury v. Nichols – Michael was killed in a one-car crash in his own car w/ a friend driving (both were drunk).  Jury found liability, but 0 damages.

(i) Father had never paid child support, mother sent him to live w/ farther, and there were infrequent contacts b/t Michael and siblings and therefore 0 is affirmed

(b) Gamble v. Hill – evidence of the dead child’s moral delinquencies was inadmissible, b/c it had no tendency to prove that parents suffered a smaller loss 

(3) Quality of marriage 
(a) Pena v. Northeast Ohio Emergency Affiliates, Inc. – 0 jury verdict, b/c marriage had difficulties and husband re-married 3 months later.

D. Constitutional and Dignitary Harms 

1. Dignitary Harm/ Emotional Distress 
a) Lack of market to determine measure of harm
b) Therefore measure harm by comparison to other cases 

(1) Judge can use remittitur if he thinks jury award is too high.

c) Three potential parts of dignitary harm:

(1) Loss to reputation - 

(2) Instrumental purpose of deterrence – prevent vigilantism 
(3) Emotional distress

2. Constitutional Harm

a) Denial of PDP is actionable for nominal damages

(1) Only when there is no proof of actual cause b/t denial of hearing and injury

(a) Carey v. Piphus – Π was suspended from school w/o due process.  Argued that as in defamation, damages should be presumed 
(i) CT held that damages should be proven for a constitutional violation and therefore in this case, only nominal damages may be awarded 

VIII. Value of Money over Time
A. Pre-judgment and Post-judgment Interest 
1. The previous cases and awards dealt w/ static time

a) Injury in past ($200) and if the damage awarded is $200 at the time of trial and appeal, then the Π would not be made whole, b/c they did not have access to that money for a year or 2

(1) Therefore there is pre- and post-judgment interest

2. This is different from present value, b/c pre- and post-judgment interest is compensating for a damage that occurred in the past, not for injuries that are going to be suffered in the future
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B. Present Value Calculations 
1. General

a) Present value deals w/ what money figure needs to be awarded today for losses in the future 

2. Factors that have a role in calculations

a) Inflation (general)
b) Future wage inflation 

c) Industry productivity

d) Individual Π’s abilities 

e) Medical expenses 

f) How long will Π live for?
g) Whether it is paid at the end of the year v. beginning of the year 
3. Why do we give lump sums?
a) Tradition of the trial where there is a single trial, resolve all the issues, and the trial is over
4. Alternatives – periodic tables

a) Used often in the medical malpractice

b) Involves another party
(1) 3rd Party is usually an insurance company

(2) Benefits

(a) Shifts risk from Δ to insurance company
(b) Π may get higher $ if insurance company takes into consideration inflation

(c) Tax benefit

(i) Δ receives a deduction (normally)

(ii) Π receives the money and invests it and therefore the interest is taxable

(a) If insurance company is making pay outs to Π, then it is not taxed

c) Lawyers don’t like this

(1) Better to get large total sum now and take a % of it, then to receive smaller bits of payment

Injunctions 

IX. General 
A. Requirements 

1. Irreparable harm

a) Damages so low that it may mean that damages are insufficient and (injunctions are better

b) Burden of inconvenience sufficient to show irreparable injury (Thompson v. Commonwealth)

c) H/w one billboard is as good as the next and therefore there is no irreparable injury (Van Wagner)

(1) ( though language of irreparable injury is used

(a) May be used to say something else, as in this case, undue hardship on Δ
2. Propensity 

a) Ripeness

b) Mootness
c) Scope/breadth of injunction  

3. Other Factors 

a) Hardship 

(1) On Δ
(2) On CT
b) Practicality

c) Constitutional rights

(1) Free speech

(2) Right to jury trial

d) Personal service contracts 

B. Coercive remedies at law

1. Mandamus – an order to a public or corporate official, directing him to perform a ministerial duty

a) These orders are indistinguishable from mandatory injunctions in practical effect

(1) Usually, either are available, but sometimes for reasons of history, custom, or whatever, one is available while the other is not

b) Limitation

(1) Not available against a private individual 

(2) Duty must be clear and nondiscretionary 

(3) Grant of mandamus said to be discretionary and governed by equitable consideration 

(a) Therefore not available if Π has some other adequate remedy

(i) Makes no sense to deny mandamus b/c injunction available, h/w CT’s do deny it when there is some more specific provision for judicial review of officer’s decision OR 

(ii) Where damages would be adequate and government has waived its immunity from suit 

2. Prohibition – order to an inferior CT or quasi-judicial agency to prevent it from exceeding its jurisdiction or abusing its authority 

a) Similar to an injunction against filing or prosecuting a lawsuit

(1) But w/ 2 essential differences

(a) CT w/ equity power can enjoin suits in CT that are not inferior to it, including CT’s in other jurisdiction and CT’s of law (before merger of law and equity)

(b) Equity CT will never enjoin other CT’s or its judges; the injunctions is addressed to the Π
3. Habeas corpus – order to a person holding another in custody, directing him to bring the prisoner to CT and justify the prisoner’s further detention 

X. Requirements 

A. Propensity
1. Ripeness 
a) Generally 

(1) Realistic threat of harm that (s going to do something and ( has to prove it, not just assert it 
(a) Humble Oil & Refining Co. v. Huang – request for an injunction based and supported by an affidavit.

(i) Though there would be irreparable harm, issue was not ripe, b/c there was no evidence that Δ was going to commit the act 
(b) City of LA v. Lyons – issue was not ripe and therefore injunction is not proper, b/c there is no likelihood that Π will be personally choked again in the future
(2) It is said that the threatened harm must be imminent or even immediate

(a) Substantial certainty that harm will occur eventually, facts are sufficiently developed for reliable decision 

(a) Regional Rail Reorganization Act Case – special legislation and CT decisions pursuant to it had set in motion a chain of events that would “inexorably” lead to conveyance of all assets of bankrupt Penn Central Station 

(i) Though conveyance was still a long time off, CT found it inevitable and decided 3 constitutional challenges against it

(3) Exception

(a) Statutory exception
(i) TN statute provides that when process is served, there will be an injunction in effect that enjoins both parties not to dissipate marital property 

2. Mootness 

a) Violation happened and don’t see threat of it happening again in the future 

(1) Generally 

(a) Marshall v. Goodyear Tire & Rubber Co. – different then Humble Oil Co., b/c the bad act has already happened and ( no issue of ripeness.  Instead this is a question of mootness.  TC ordered injunction not to discriminate on the basis of race, gender and age.

(i) Could have been struck down on mootness issue, b/c the person that was engaged in the bad conduct was terminated

(2) Must show that the violation will occur again to that particular Π
(a) City of LA v. Lyons – issue was not ripe and therefore injunction is not proper, b/c there is no likelihood that Π will be personally choked again in the future
b) Voluntary cessation – is there still a substantial threat of violation?

(1) There must be some cognizable danger that the wrong will be repeated

(a) The mere possibility is insufficient – factors:
(i) Bona fide expression of intent to comply
(ii) Credibility

(iii) Steps taken to disable self to prevent future harms 

(iv) Character of past violations 

(v) How bad was it?

(vi) Nature of the act

(a) US v. WT Grant Co. – bad conduct relating to investment banks.  On a finding that the conduct was unlawful, the party voluntarily gave up their seats on the board and said that the issue was moot.  TC found that the case was moot under Article III
(i) SC reversed on that point, b/c there is still a dispute as to the legality on that point.  H/w the case is still moot on the basis of propensity
c) Withholding injunctions b/c they are no longer needed, but not finding cases moot

(a) United States v. Jones – suit against Citadel to admit women.  Δ’s Board voted to admit women immediately after US v. Virginia 

(i) CT reversed an injunction ordering Δ to admit women

(b) Hopwood v. Texas – declined to mandate entry of an injunction on remand, b/c it was “confident that the conscientious administration at school, as well as its attorneys will heed the directives contained in this opinion”

(i) Danger to both sides, especially if there is no declaratory judgment or award of damages 

(ii) Ending case w/ an opinion but no judgment jeopardizes Δ’s claims to further appellate reviews and Π’s claim to attorney fees 

3. Scope 

a) Scope of the injunction must be tailored to the extent of the propensity  

(1) To go beyond the scope would place the Π in a better position 
(a) Marshall v. Goodyear Tire & Rubber Co. – different then Humble Oil Co., b/c the bad act has already happened and ( no issue of ripeness.  Instead this is a question of mootness.  TC ordered injunction not to discriminate on the basis of race, gender and age.

(i) Could have been struck down on mootness issue (b/c the person that was engaged in the bad conduct was terminated), but was instead decided on scope.  ( since there is no evidence that Δ was going to conduct in the bad behavior beyond what has already happened, the scope was too broad.
(2) Size of company may be relevant in determining scope 
(a) Torrington Extend-A-Care EE Association v. NLRB – there were 130 violations at 33 facilities

(i) That was not enough to support an injunction covering 985 nursing homes and 100,000 EE’s

(b) Beverly CA Corp. v. NLRB – CT approved a company wide injunction, relying on “ubiquitous” presence of regional managers at facilities engaged in ULP, failure of earlier orders to reform company behavior and evidence of violations in 15% of company facilities

(3) Any fact about the scope of the violation can limit the scope of the remedy
(a) E&J Gallo Winery v. Gallo Cattle Co. – well known Gallo winery successfully sued a little known Joseph Gallo for trademark infringement in sale of cheese.  TC ordered injunction enjoining Δ’s use of his own name on “any retail package of cheese or any product”

(i) Too broad in enjoining hypothetical products 

4. Degree of certainty required 
a) Degree of certainty required 

(a) Davis v. Miller – injunction against construction of service station denied; nuisance and harm must be “not merely possible, but to a reasonable degree certain”

(b) Fink v. Board of Trustees – injunction against discharge of sewage grant; test is whether “it clearly appears that a nuisance will necessarily result”

(c) Brent v. City of Detroit – injunction against the construction of a swimming pool denied; “CT’s are reluctant to enjoin anticipatory nuisances absent a showing of actual nuisance or the strong probability of such results”

(d) Franklinton Coalition v. Open Shelter – “there was sufficient evidence to require the TC to find that the operation of the shelter for homeless persons by Δ would necessarily constitute a nuisance at the new location merely b/c it did constitute a nuisance at a former location (CT relied on the hiring of a new director and operation changes in light of the earlier bad experiences)
b) Fear and uncertainty that go to the merits of the case 
(1) Generally 
(a) Nicholson v. Connecticut Half-way House, Inc. – construction of a half-way house and Π’s are residents who did not want it based on it being a nuisance.  Π have fear of crime and fear that property value is going to go down
(i) CT found that the fear of crime is too speculative and that property values going down is something that they are not going to take into account of 

(2) But compare with:
(a) Reed v. King – buyer attempted to rescind her purchase of a house after learning that 10 years before, a murder had been committed.  Buyer alleged that the murder was a material fact and that there was a duty to disclose, b/c the history reduced its MV

(i) CT held that the pleadings stated a claim that could go to the jury 

(b) Mother & Unborn Baby Care, Inc. v. Doe – Δ’s were a right to life group that advertised in Yellow Pages as an abortion clinic.  Women who came were shown anti-abortion literature.  Π’s sought to enjoin the misleading advertisement, testifying that they feared that they would be misled again and so would other women.

(i) CT held no injunction b/c fear, apprehension and possibilities is not sufficient to establish any injury 

B. Irreparable injury
1. General rule – if damages are not as complete, practical and efficacious as an injunction 
a) Δ is insolvent and Δ won’t be able to pay damages and therefore damages are not as good as an injunction

(1) Generally 

(a) Pardee v. Camden Lumber Co. – issue of cutting down trees and whether damages or an injunction should be issued

(i) CT states that one place where the line can be drawn is b/t the horse and land

(2) Exception – when there is a policy reason (i.e. constitutional right involved)
(a) Willing v. Mazzocone – Δ in the case has no merit to her claim.  Nevertheless is standing outside w/ a sign saying that Π’s have defrauded her.  Δ is also judgment proof.
(i) Person’s exercise of a constitutional rights will not be dependent on 
(ii) B/c deals w/ freedom of speech and that CT’s will not enjoin libel (doctrine of prior restraint) and b/c otherwise would be denying Δ of her right to a jury trial, no injunction will issue.  Damages will not be able to violate, but person’s right to free speech should not depend on their economic status 

b) Item is hard to replace

(a) Pardee v. Camden Lumber Co. – the trees are unique and they are hard to replace, and ( an injunction is proper, b/c damages will not properly compensate the Π
c) Injuries are hard to quantify and therefore hard to calculate 
(a) Hadley – what if instead of damages, an injunction was issued?  Would that have been better?

(i) Probably.  One of the problems w/ the Hadley case is that it was very difficult to determine damages (i.e. emotional injuries, etc.), therefore in this case, it would have been better to just have an injunction

d) Slight burden as irreparable injury

(1) Generally
(a) Thompson v. Commonwealth – contract for the building of a voting machine b/t manufacturer and the state.  The Δ decided to breach the K and the Π (the state) wanted specific performance.  The Δ claimed that any machine shop could be able to make the machine and therefore damages would be sufficient
(i) CT held that it is going to be very burdensome to find a replacement and therefore that is sufficient for an injunction or specific performance

(2) If this is true, then it should be very easy to prove irreparable injury

(a) ( anytime that you are asking for specific performance, proof that there is irreparable

2. Irreparable injury at law

a) No need to find irreparable injury at law 

(1) Replevin – legal remedy that allows for the return of personal property

(a) ( if you want an injunction (equitable relief) must show irreparable injury

(b) H/w if you want replevin (legal relief), then don’t need to show irreparable injury

(a) Brook v. James A. Cullimore & Co. – Π wants personal property back but Δ wants to give MV instead.
(i) CT holds that Δ doesn’t have a choice and the Π is entitled to specific relief
(2) Illustrates arbitrariness of irreparable injury rule

(a) Legal rule allows a party to get their stuff back w/o showing irreparable injury

(b) H/w in court of equity, need to show irreparable injury

b) What is the difference b/t going through an injunction and going through replevin?

(1) Enforcement issue

(a) Injunction – power of contempt

(i) If item is small and can be hidden then an injunction will be better

(b) Replevin – sheriff seizes it
(i) If item is big and can’t be hidden replevin is sufficient to get property back.

c) Thus question is do you want power of contempt or do you not want to prove irreparable injury?

C. Other Factors
1. Undue hardship on Δ
a) H/w the hardship on Δ must be significantly larger then hardship on Π
(1) Generally 

(a) Van Wagner Advertising Corp. v. S&M Enterprises – Π wants to keep his billboard, but Δ wants to give a small amount of damages instead.  CT determines that damages would be sufficient 

(i) Because the burden on the Δ is too great, will not grant the injunction, even though there is a showing of irreparable injury 
(2) Not available if the Δ is an intentional wrongdoer

(a) Generally 

(a) Ariola v. Nigro – property dispute.

(i) Though the hardship on the Δis significantly larger, issued an injunction, b/c the Δ was an intentional wrongdoer
(b) What is intent?

(i) To act recklessly (failure to take adequate precautions)

(a) Nitterauer v. Pulley – intentionally meant to act recklessly 

(ii) To act negligently 

(a) Pradelt v. Lewis – intentionally meant to act negligently 

(c) Relevance of intent

(i) Breach of a K is not a tort

(a) Van Wagner Advertising Corp. v. S&M Enterprises – see above

(i) Breach of K is not a tort and therefore though Δ was intentionally breaching K, intent not relevant in determining whether hardship on Δ shoudl be taken into account (reason not stated in opinion)
(ii) Hardship is so great that the injunction will not issue
(a) Boomer v. Atlantic, the CT held that the cost of tearing down the cement factory was so great, as opposed to the cost of the cleanup for the residents that the injunction should not issue

(iii) Cost of granting injunction to 3rd parties very great
(a) Boomer v. Atlantic, the cost to the EE’s all losing their jobs is too great compared to the cleanup of the residents in the neighborhood

b) Issuing of injunction highly discretionary 
(1) ( more Π is able to show that Δ is a wrongful actor, then the easier it is to get an injunction 
2. Undue hardship on CT
a) If the burden is too great, CT will not issue an injunction 

(a) Co-operative Insurance Society Ltd. v. Argyll Stores (Holdings) Ltd. – TC refused to order specific performance of a K to have a Safeway open at the shopping center for another 17 years.  AC reversed.

(i) There is going to be a huge burden on the CT and therefore will not issue the order.

3. Policy Reasons
a) Freedom of speech 

(a) Willing v. Mazzocone – Δ in the case has no merit to her claim.  Nevertheless is standing outside w/ a sign saying that Π’s have defrauded her.  Δ is also judgment proof.
(i) B/c deals w/ freedom of speech and that CT’s will not enjoin libel (doctrine of prior restraint) and b/c otherwise would be denying Δ of her right to a jury trial, no injunction will issue.  Damages will not be able to violate, but person’s right to free speech should not depend on their economic status 

b) Right to a jury trial

(1) CT’s of equity do not have a jury, and the judge will decide the issues and issue the injunctions 

(a) If Π moved for injunction, then they will be waiving their right to a jury trial ( not issue
(i) H/w if injunction issued against Δ, then Δ will have been denied a jury trial 

(b) Way around this is to have a jury decide the facts in equity

(i) H/w this is a rare situation and most jurisdictions do not follow this practice

(2) Importance of jury trial in cases of injunctions
(a) Not real importance

(b) Something that is pulled out of hat by judge when they want to grant or deny something 

(i) In reality, not that important 

c) Multiplicity of suits (favors injunctions)

(1)  Differences

(a) Injunctions

(i) 1 suit, violation, throw them in jail under the contempt powers, that’s it

(b) Damages

(i) Suit, can’t collect, re-litigate if bad conduct continues, re-litigate again and again

(2) Damages inadequate b/c incremental damages are small

(a) Incremental damages on Π is small

(b) Issue an injunction

(c) Small damages on many Π’s

(d) Consolidate in class action

(3) Therefore this can be seen as a burden on the CT if they do not issue the injunction 

4. Personal Service Contracts
a) Employment and Remedies

(1) Very difficult for ER’s to get remedies

(a) Injunction

(i) Looks like slavery

(b) Damages

(i) Difficult to measure

(ii) Easy for ER to mitigate

(2) Why?

(a) Historical reasons 

(a) American Broadcasting Cos. v. Wolf – K clause stated that Δ will negotiate in good faith and that they will not accept an offer during 90 days after expiration of K.  Π’s wanted specific performance of the right of 1st refusal.

(i) CT did not issue specific performance for a personal service K, b/c it looks too much like slavery and too difficult to enforce.  CT also refused to issue a negative injunction to prevent Δ from working for competitor.
XI. Types of Injunctions 

A. Preventive injunctions 

1. an injunction to prevent wrongdoer from committing the wrong 

(a) Pardee v. Camden Lumber Co. – issue of cutting down trees and whether damages or an injunction should be issued

(i) CT states that one place where the line can be drawn is b/t the horse and land

B. Reparative Injunctions 

1. An injunction to repair a wrong that has occurred in the past  
(a) Bell v. Southwell – blacks were barred from voting in election and sued for injunctive relief to enjoin the winner from taking office.  TC refused to grant remedy, b/c said that they didn’t have the power to undo elections.
(i) CT held that TC had power to issue reparative injunctions and take apart unconstitutional elections 

C. Structural Injunctions 
1. Generally 

a) Restructuring institutions through a long series of preventative and reparative injunctions 

(1) Typically government institutions – 

2. School Desegregation
a) 1950’s – SC held in Brown v. Board of Education that segregation was unconstitutional

(1) SC then held that there should be integration “w/ all deliberate speed”

(a) But after the ruling, there was not a lot of changes towards integration

b) 1960’s – CT’s began to use more aggressive means in creating a remedy for integration

(a) Swann v. Charlotte-Mecklenburg BD of Education – schools were segregated in NC and students would be bused long distances to maintain segregation.  The use of neutral districts did not solve the problem b/c of de facto segregation.  ( TC started pairing districts together and started mixing students via busing.  AC reversed.

(i) SC held that this was permissible.

(ii) Note: what would the students’ position be if there was no segregation?  White flight and segregated schools.  Therefore this seems to be more in the tradition of Bailey.

c) 1970’s – CT became more conservative 
(a) Milliken I (1973) – 3 years after Swann decision.  Desegregation in Detroit.  Found that a remedy only in Detroit would not be effective b/c of high % of blacks.  ( TC ordered metropolitan plan that involved suburban school districts.

(i) Went beyond the scope of the remedy, b/c it was forcing innocent school districts who were outside of Detroit into the remedy.

(b) Missouri v. Jenkins III – segregated school system had created poor performing schools.  TC ordered that magnet schools be created to improve the desegregative attractiveness.

(i) Held that this was not permissible, b/c it was trying to do indirectly, what it could not do directly (metropolitan plan)

d) After this decision, the CT’s started ending their remedial orders

3. Other cases

a) What is the rightful position?
(a) Hutto v. Finney – whether it is w/in the TC power to prevent AK prisons from holding people in solitary confinement for more than 30 days.  Thus, is it unlawful to hold them for more then 30 days, is that considered cruel and unusual punishment?

(i) Though it is not unlawful, the measure was necessary to prevent the change away from the rightful position, b/c in combination w/ all the other conditions, it is unlawful

(b) Lewis v. Casey – prison libraries reform, when the CT was only able to find that 2 Π’s were denied “reasonably adequate opportunity to present claimed violations of fundamental constitutional rights to the CT.”

(i) SC said that this was not permissible 

(c) US v. Virginia – VMI and VWIL 

(i) SC said that VWIL is not good enough and that women must be admitted to VMI.  The rightful position would have meant that the women would have had both the tangibles and the intangibles of VMI and since VWIL does not have the intangibles, then they are not being placed in their rightful position

D. Prophylactic injunctions 
1. Permissible to outlaw lawful conduct to prevent unlawful conduct 

(a) FTC v. National Lead Co. – Δ’s used “zone delivered pricing system” where sellers set the same delivered price for all customers in various geographic zones.  FTC order prohibited both the conspiracy and the use of any zone-delivered pricing system that resulted in prices identical to those offered by competitor

(i) Through individual selection of zone delivered pricing was lawful, but the practice lent itself to tacit or explicit pricing fixing, history of unlawful uses was pervasive, no reason to think that Δ had given up the practice and repeated proof of each claim of conspiracy would be difficult 

(b) EEOC v. Wilson Metal Casket Co. – sexual harassment case of where ER did lots of conduct 

(i) Permissible to enjoin Δ from asking any female EE to accompany him off premises, unless accompanied by at least 1 other EE, and from kissing, or placing his hands on any female EE in the workplace.  Though lawful conduct, was necessary to prevent repeated incidents in the future 

2. Common prophylactic injunctions

a) Notices 

(a) Bundy v. Jackson – Π proved that supervisors in government agency were sexually harassing female EE’s in violation of employment discrimination laws.  TC ordered notices and individual letters to EE’s explaining policy against sexual harassment, develop disciplinary measures for harassers and to develop means of instructing EE’s of the harm of sexual harassment

(i) Provisions were reasonably designed to protect Π from further illegal harassment (ordered more than the statute required)

b) Monitoring Δ’s compliance w/ the injunctions 

(1) Periodic reports 

(2) Prior approval 

(a) US v. Akers – Δ had begun draining a swamp w/o getting a wetlands permits and on some occasions had lied to the Corp of Engineers about what he was doing 

(i) Affirmed an injunction ordering him to seek advance approval from the Corps for any dredging or filling operations, even those clearly exempt under the statute

3. More intrusive 

a) Enjoin employment

(1) Generally, EE’s are free to quit their jobs and work for competitor, 
(2) H/w they are not free to disclose their former EE’s trade secrets w/o the new ER (or anyone else).  
(a) ( when CT finds it inevitable that success in new job will require disclosure, may enjoin 

(a) Pepsi Co., Inc. v. Redmond - 
XII. Other issues re: injunctions 

A. Modifying Injunctions
1. Is modification permissible?
a) Swift standard 
(1) Clear showing of grievous wrong 

(a) Very though to get modification 

b) Rufo standard
(1) Change in factual conditions makes compliance more onerous

(2) Decree proves to be unworkable b/c of unforeseen obstacles 

(a) Standard is not unforeseeable, but unforeseen

(i) Therefore it is a subjective standard 

(3) Detrimental to public interest 

(4) Statutory or decisional law has changed to make legal what the decree was designed to prevent

(5) If the agreement was based on a misunderstanding of the governing law

(a) Usually if there is a mistake, the CT just tells the party to bear the cost of the mistake

(i) H/w in this case, the CT is allowing one of the parties to get out of it

(a) Rufo v. Inmates of Suffolk County Jail – housing conditions of pretrial detainees was held to be unconstitutional.  Parties entered into a consent decree.  H/w during this time change in fact (prison population size increased) and law (Bell v. Wolfish).

(i) Swift is no longer the standard.  Standard is more flexible 

(6) Scope of modification 
(a) Suitably tailored to changed circumstances AND try to maintain agreement as possible 

(i) Can’t modify to violate constitution or impose constitutional floor 

(ii) Defer to the state authority re: how to remedy the problem 

(b) Modification is permissible if such modification does not defeat the purpose of decree 

c) School desegregation standard 

(1) Once the affirmative duty to desegregate has been accomplished and schools are unitary
(a) Swann v. Charlotte-Mecklenburg Board of Education – insisted that parts of the remedy were temporary, that busing was an “interim corrective measure.”  That once the affirmative duty to desegregate has been accomplished and schools b/c unitary further judicial intervention would be inappropriate 
(b) Board of Education v. Dowell – OK city busing case.  School board moved to modify the busing decree.  AC denied, applying Swift standard

(i) SC reversed, said that school desegregation decrees (unlike Swift) were not intended to operate in perpetuity.  The proper standard is “whether the Board has complied in good faith w/ the desegregation decree since Π was entered, and whether the vestiges of past discrimination had been eliminated to the extent practicable”

2. How should it be modified?

a) Cannot violate the constitution 

b) Suitably tailored to changed circumstances

(1) Does not have to be the constitutional floor (the bare minimum)

c) When a public entity is involved, defer to the public entity

(1) O’Connor dissented on this point

B. Rights of 3rd Parties
1. Summary of Rule seems to be 
a) Innocent 3rd parties can be affected (Gautreaux) substantially (Teamsters, Zipes, Paradise), but not to the point of being reconstructed (Milliken I) by orders to Δ who violated the law.  

b) Innocent 3rd parties may be subjected to “minor and ancillary” orders themselves (NY Telephone, General Building Contractors)
2. General 

a) CT may burden 3rd parties 

(a) Hills v. Gautreaux – TC ordered HUD to consider a metropolitan plan b/c of intentional racial discrimination in Chicago.  

(i) Though the suburbs were not wrongdoers in Milliken, HUD is a wrongdoer in this case.  The burden in Milliken was very large, b/c they were involved in the busing program.  H/w § 8 housing dealt w/ private peoples and so the suburban governments were not burdened

b) H/w CT may not restructure 3rd parties 

(a) Milliken I – involved plan to desegregate Detroit school district by creating a plan that would include the suburban school districts as well. 

(i) CT held that since the suburban school districts were not wrongdoers, could not make them a party and that you can burden but cannot restructure

c) But too much of a burden on 3rd parties is not permissible 

(a) Missouri v. Jenkins III – creation of magnet schools does not place any burden on the suburban school districts.  Therefore would seem to be more in line w/ Hills and thus would be permissible

(i) H/w the CT held that it was too great of a burden and that b/c of that such intra-district remedies was not permissible when the violation was interdistrict.

d) Perhaps another way to look at this would be to say that schools have different rules

3. When 3rd party is not a wrongdoer 

a) May not burden, UNLESS

(1) Burden is ancillary and minor AND

(a) General Building Contractors Association v. Pennsylvania – remedy was the imposition of reporting requirement on ER’s to show that there is no discrimination.  H/w there was also a showing that ER were not wrongdoers.

(i) Innocent 3rd parties may be burdened, but only if the burden is ancillary and minor.  Since it is not ancillary and minor in this case, not permissible 

b) H/w may burden if 3rd party has a duty that they must fulfill 
(a) In re Boung Jae Jung v. Brown – CT ordered demonstrators to stay 50 feet away and ordered the police to enforce this order.  Police attempted to, but was unsuccessful and therefore gave up.  CT ordered the police to enforce the order.  In this case, the police is not a party to the suit and is not a wrongdoer, and therefore is a 3rd party.  B/c of this, the only direct order that is permissible is if it is minor or ancillary

(i) AC rejected police’s appeal, that CT had inherent authority to enforce its order, that police had duty to enforce the law, that contempt proceedings would be unworkable (b/c demonstrators were numerous and anonymous) and that police retained discretion as to the means of enforcing the 50 feet limit

4. More notes re: burden on 3rd parties

a) Perhaps implementing orders directed to UN were “minor and ancillary” 
(1) But the effect on incumbent workers was substantial 

(a) US v. NY Telephone – US sought an injunction ordering telephone company to place pen register (wire tapping device that records #’s, but does not record conversation)

(i) CT found power to issue injunction in the “All Writs Act” (authorizes federal CT’s to issues all writes necessary or appropriate in aid of their respective jurisdiction and agreeable to the usage and principles of laws

(b) Zipes v. Trans World Airlines and Teamsters v. US 

(i) Held that Π were entitled to be employed w/ seniority retroactive to the day on which the ywould have been hired but for the ER’s discriminatory conduct.  Therefore Π would then get whatever rights the existing seniority rules provided to an EE w/ that much seniority
(ii) H/w were not entitled to the broader relief sought in Teamsters, which could have modified the seniority rules themselves.  Therefore Π could not use seniority to displace workers.  H/w could use it when vacancies arose.  Effect was to freeze incumbents until Π’s reached their rightful positions 

C. No double recovery 

1. H/w if the damages are to compensate for the delay, then that is permissible 

(a) Forster v. Boss – buyers sued for compensatory and injunctive relief for fraud.  CT’s issued injunctive relief (turn over the permit and remove dock) and also awarded compensatory relief (value of the land w/ the dock and w/o the dock) and also punitive damages.
(i) Buyer was already made whole w/ the injunctive relief and therefore the receipt of compensatory damages is double recovery 
D. Length of an injunction or scope?
(a) Winston Research Corp v. Minnesota Mining & Manufacturing – Δ’s developed product w/ trade secretes learned from Π’s EE’s.  Π sued for relief.  TC granted an injunction of 2 years.
(i) Taking into consideration that the secret would be revealed and the amount of time it would take to develop a similar product, 2 years was a reasonable estimation of time to counter Δ’s ill-gotten gains
(b) Bailey v Proctor – capital structure created moral hazard.  CT ordered liquidation of the trust.
(i) It was proper to order liquidation 
XIII. Economic Analysis of the Choice of Damages or Injunction
A. What’s better from the POV of economics?  
1. In Pardee, would it have been better to let the Δ cut down the trees and pay damages OR issue an injunction to prevent the Δ from cutting down the trees in the first place?  Which one is more efficient?
2. Efficiency (Kaldor-Hicks) – what rule maximizes overall social wealth, regardless of its distribution?  In other words, what will make the pie bigger, w/o considering what the slices should look like?  How do you encourage efficient outcomes?
3. Historical research

a) Kose - In the absence of transaction costs, the parties will bargain to the efficient outcome, regardless of the underlying legal rule

b) Calabrasie - We don’t live in a world w/o transaction cost.  H/w when the transaction cost is low, then an injunction is proper; when transaction cost is high, then damages are proper 

4. Laundry Hypothetical
a) Hypo fact pattern

b) There are 3 alternatives

	What if the rule was:
	Payoff to E
	Payoff to L
	Overall social wealth

	E is free to pollute
	$1,000

(no scrubs)
	$200

(install filters)
	$1,200

	L entitled to compensatory damages
	$900

(no scrubs)

($1,000 profit - $100 damages)
	$300

(install filters)

($200 profit + $100 damages)
	$1,200

	L entitled to an injunction
	$500

(install scrubs)

($1,000 profit - $500 scrubs)


	$300

(no filter)
	$800


c) Economist would say that the most efficient allocation of resources would result in either Option 1 or 2, that the installation of the filters would be the most economical, b/c the overall social wealth is higher ($1,200 v. $800)

d) Assuming that a perfect world existed and there was no transaction cost, Kose would say that even if an injunction was issued, the parties would negotiate

(1) That instead of E installing the scrubs, E would negotiate w/ L by perhaps offering $200 to install the filter, thereby L would have a profit of $400 (which is greater then what he would have been getting before) and that E’s profits would thereby be $800 (which is higher then if he had to install the scrubs)

(a) Therefore the payoff would be [$800 (E) + $400 (L) = $1,200]

5. Note: in the book, the costs are a bit different, b/c in the case where “L is entitled to compensatory damages,” the book states the numbers this way:

	L entitled to compensatory damages
	$800

(no scrubs)

($1,000 profit - $200 damages)
	$300

(install filters)

($100 profit + $200 damages)
	$1,100


a) What is wrong w/ this?

(1) In this example, it is assumed that L will let the damage occur and get only $100 in profit and then sue for $200 in damages, and since E must pay the $200, their profit will be $800 and not $900

(a) What is wrong w/ this?

(i) There is no mitigation.  If there was mitigation, then the previous example will be correct 

(a) That is to be expected, the people that made the chart and hypothetical are economists, not remedy professors

B. Transaction costs 

1. However, there are transaction costs, and so, when should one issue and the other one not issue?

a) Low – injunction

(1) B/c the parties have a better idea of cost and therefore can bargain around for the best result 

(a) Therefore, even if the award of an injunction would result in an uneconomical result (as in the laundry example), if there is low transaction cost, the parties will bargain around it

(i) Thus, the result will not be $800, but since they bargain around it and it will be $1,200

b) High – damages

(1) B/c the concern is that the parties won’t bargain and therefore an award of damages is better then the parties not coming around to an agreement 

(a) Therefore, if the parties won’t bargain b/c of transaction cost, and an injunction is issued, then the social welfare will be $800, which would not be good

(i) Thus, in such a situation, it would be better to issue damages and try to get a high social welfare 

2. When are there high transaction costs?

a) High information cost

b) High bargaining cost (i.e. bilateral monopoly)

3. Bilateral monopoly

a) In a bilateral monopoly, people don’t bargain for an efficient solution

(1) One person will always hold out for more money, and since there is no one that you can bargain w/ if you don’t like that one person, there is nothing either party can really do

4. Critiques of economic analysis model
a) Ward Farnsworth article – interviewed many attorneys that either had injunctions awarded for or against them, and asked them whether they negotiated and bargained after the injunction to “buy their way out of the injunction”?

(1) Result was not one of them negotiated after the issuance of the injunction

b) Rationality problems – can we expect people to act as though they are rational actors?

XIV. Preliminary Relief

A. Preliminary injunctions
1. Requirements
a) General 

(1) Likelihood of success on the merits

(2) Relative hardship on the parties if the judge makes an error (balance of the equities)
(a) Generally 

(a) LA Memorial Coliseum Commission v. NFL – TC issues prelim preventing NFL from blocking Raiders move to LA (from Oakland).

(i) Was improper, b/c standards not met.  First of all, irreparable injury was only money and that is not sufficient for a preliminary injunction.  Also, in balancing the equities, must look at both sides.  Since TC only looked at one side, that was error.

(b) Lakeshore Hills, Inc. v. Adcox – bear case

(i) Though the likelihood of success is very high, the hardship to Π if not granted is very high.  Though Δ may suffer some hardship b/c they don’t have their pet, the other side (maiming of the child) is very large.)

(b) 2 types of mistakes 

(i) What is the harm to the Δ if the injunction is granted

(ii) What is the harm to the Π if the injunction is not granted
(a) Irreparable injury – must be great enough to overcome chance of error 
(c) One more type of interest

(i) What is the public interest involved
b) Traditional Test
(1) Strong likelihood of success on the merits
(2) Possibility of irreparable injury to Π if the preliminary relief is not granted
(3) Balance of hardships favoring the Π
(4) Advancement of public interest 
c) 9th circuit
(1) Combination of probable success on the merits AND possibility of irreparable injury OR
(2) Serious questions are raised and the balance of hardship tips sharply in its favor
(a) These are not separate tests, but the outer reaches of a “single continuum”
d) Posner

(1) (P)(HΠ) > (1 – P)(HΔ)

(a) Left-hand side

(i) P = probability of success

(ii) HΠ = harm to Π
(b) Right-hand side

(i) 1 – P = probability of success

(ii) HΔ = harm to Δ
e) Graphical


[image: image2]
2. Standard of review
a) Standard = abuse of discretion 

3. CA 2003 Recall case – TC found that res judicata will bar the case, that parties will not win on the merits, Bush v. Gore doesn’t apply and even if it did, don’t think they will win and on the balance of the hardship, there is a greater harm to the Δ if hter eis an injunciton. 
a) AC – found that TC erred, b/c res judicata will not bar the case, Bush v. Gore does apply and there has been a violation, and in the balance of the hardship, greater harm to the Π if injunction is not issued.
b) En banc – we’re not sure what the law is but we’re going to defer to TC.  Though a reasonable interpretation of Bush v. Gore is that there has been a violation, it is still not clear and ( will defer and re: balancing, TC was right.
B. Stays
1. General
a) Stay orders are basically orders that prevent enforcement of an earlier CT order

(1) Either by the same CT or a higher CT

(a) Example – stay for an order to pay damages during pendency of appeal

(i) OTW would have to pay for damages during the appeal

(2) A stay is basically a type of preliminary relief 

2. Requirement (under Bush v. Gore)
a) General 

(1) Reasonable success on the merits

(2) Balance of the equities

(3) Public interest 

(4) AND (for only USSC cases only)

(a) Likelihood that SC will grant cert (4 votes to take the case by the SC)

(a) Bush v. Gore – re: the 2000 elections and whether there should be a stay granted
(i) Issued the stay and ( will grant cert and that there will be success on the merits.  Re: the balancing, harm to Bush if votes recounted and loses, then another recount and he wins will cast cloud of illegitimacy on presidency.  Harm to Gore is that he will not b/c president.
b) Posner

(1) (P)(HΠ) > (1 – P)(HΔ)

(a) Gore

(i) P = probability of success

(ii) HΠ = harm to Π = 1,000,000,000

(b) Bush

(i) 1 – P = probability of success

(ii) HΔ = harm to Δ = 1,000
(2) If this is so, since possible harm to Gore is so high, shouldn’t there have been a stay?

(a) Posner response – no, b/c probability of success for Gore was 0% and thus [1,000,000,000 x 0 = 0] which is smaller then Bush, which had a 100% probability of success and thus [1,000 x 100% = 1,000]

(i) Doesn’t that mean that SC made their decision before even receiving the brief?

(a) Posner response – of course, b/c this was not a legal issue, but they were deciding a pragmatic issue
c) Basically, issuing of the stay is the same as the issuing of a preliminary injunction

(1) Except that with SC, there must be additional showing that there is possibility that SC grant cert
C. Temporary Restraining Orders 
1. General

a) TRO is not appealable, but preliminary injunctions are appealable 

(1) Then how did Carroll v. President of Princess Anne get an appeal of a TRO?

(a) B/c both TRO and preliminary injunction and appeal of both of them

(i) Was not just dealing w/ an issue of a TRO

(2) Recall election – there was a TRO, but that went to appeal, how was that possible?

(a) TRO was treated as an preliminary injunction on appeal

b) Δ may want to get to the preliminary injunction stage quickly b/c:
(1) Able to get more evidence in

(2) Preliminary injunctions are appealable, whereas TRO’s are not

(3) Injunction bonds will be greater 

(a) TRO is for a shorter time and therefore the injunction bond will also be very small
2. Requirements 

a) Likelihood of success on the merits

b) Irreparable injury if TRO not granted 
c) Relative hardship on the parties if the judge makes an error (balance of the equities)

(1) Except that the showing is less

(a) Irreparable harm that will occur b/t the time of TRO and the time of the hearing

3. Notice 

a) TRO must be issued /w notice and an opportunity for a hearing 
(1) Generally 

(a) Carroll v. President of Princess Anne – CT issued TRO for 10 days, preventing neo-Nazi’s from marching in city (considered an emergency relief).

(i) Under the DPC, there is a right to be heard.  Since the TRO was issued ex parte and the Δ’s were not given notice and were not given an opportunity for a hearing (at the TRO stage), the TRO was improperly issued 

(2) Late notice

(a) Then laches may be invoked if it is considered an unreasonable delay 

(3) Exceptions 

(a) Δ’s could not be found and ( notice of the hearing was not possible 
(b) Other reasons why giving notice is not possible, such as result in harm 
(a) Call Trump and tell him that there is going to be a TRO hearing to prevent him from knocking down a building.  What will Trump do?

(i) Probably knock the building down the same day, so that there will be no TRO preventing him from acting

(b) Domestic violence, where if notice of the TRO hearing is given, there is a good chance that there will be imminent harm of grievous bodily injury or death 

4. Length and duration of TRO

a) Without notice

(1) TRO is only good for 10 days

b) With notice 

(1) TRO is only good for 10 days

(2) Beyond 10 days 

(a) Becomes a preliminary injunction and is therefore appealable 

(a) Sampson v. Murray – TC issued TRO for 10 days w/ notice to bring Sampson to testify.  Δ did not bring Sampson.  TC extended TRO indefinitely until Sampson was brought to testify.

(i) Rule 65 states that TRO w/o notice is only good for 10 days, but does not say what happens when to a TRO w/ notice.

(ii) CT could have said that TRO turns into a preliminary injunction after 10 days and ( is appealable OR that TRO w/ notice after 10 day dissolves.  In this case, CT says that it b/c’s a preliminary injunction and therefore is appealable 

(b) Dissolves 

(i) Note: was decided 2 weeks after Sampson v. Murray
(a) Granny Goose Foods, Inc. v. Brotherhood of Teamsters – CT held (2 weeks later) that a TRO w/ notice that lasts more then 10 days expires

D. Injunction Bonds
1. General

a) Injunction bonds are issued at the time of preliminary injunction (including TRO’s)

b) Meant to cover possible harm that Δ may suffer if the preliminary relief is issued wrongly
(a) Coyne-Delany Co. v. Capital Development Board – TC ordered a TRO which prevented Δ from opening thier bids and also issued a $5,000 bond.  TC then ordered a preliminary injunction w/ the same bond.  TC then held that the injunctions were improperly issued and therefore removed the injunction.  Δ suffered $56,000 in injury b/c of hte injunction.
(i) Though the injunction was improperly issued and the damages are proven, even if the Π acted reasonably in acting, must pay the bond (but not more).
c) Things that must be considered in issuing injunction bonds 

(1) Potential loss to ∆

(2) Financial hardship to Π
(3) Public importance of right being enforced

d) Bond company – will issue the bond, but if the Π doesn’t pay, then the company will pay

(1) Just in case the Π doesn’t pay, the bond company will take a lot of things in security

(2) Therefore this is expensive 

e) Notes

(1) Grant of preliminary injunctions gives Π lots of negotiating power in settlement talks
(a) ( injunction bonds way of balancing things out so Π’s will not be so quick to get prelim

(i) Π will have to balance the risk of what if it gets reversed on appeal

(2) Injunction bonds are used to help Δ when prelim wrongfully issued

(a) If prelim not issued when it should have, Π can get increase in damages 
2. Appeal of amount of injunction bond 

a) Δ must ask for an increase before the final decision reversing the preliminary injunction

(1) Therefore assume that the preliminary injunction is issued AND:

(a) TC final judgment vacates preliminary injunction and finds for Δ
(i) Must ask for increase in amount of injunction bond before TC final judgment 

(b) TC final judgment for Π w/ permanent and case goes to AC, and AC reverses injunction

(i) Must ask for increase in amount of injunction bond b/4 AC’s final judgment 

(c) Δ immediately appeals grant of preliminary to AC and AC reverses preliminary 

(i) Must ask for increase in amount of injunction bond b/4 AC’s final judgment 

b) Changed circumstances that make continued compliance w/ prelim more onerous, increase permissible 

(1) Δ must ask for an increase before the final decision reversing the preliminary injunction

3. Discretion of the CT re: injunction bonds
a) Issuance of injunction bond 

(1) Discretionary under FRCP 65 (c)
b) CT may waive enforcement of the bond, even if wrongfully issued 
(a) Page Communications Engineers, Inc. v. Froehlk – preliminary injunction, enjoining the army from awarding a defense K to the Π’s competitor.  CT ruled for army, but declined to enforce the bond.

(i) Reasoned that since the Π had proceeded in «good faith,” raised “some sold legal questions,” that army’s “ambiguous procedures” raised “doubts as to the fairness of the procurements”

(b) Coyne-Delany – very narrow discretion to waive enforcement 

(c) Atomic Oil – once preliminary injunction is narrowed or vacated, enforcement of the bond is mandatory

(d) Kansas ex rel. Stephan Adams – refused to enforce the bond where TRO was proper on the merits, but vacated b/c of a subsequently enacted statute 

4. What triggers liability under the bond?

a) FRCP 65 (c) – requires payment on the bond when a party is “wrongfully enjoined”

(a) University of TX v. Camenisch – university appealed from a preliminary injunction, ordering it to provide a sign language interpreter for a deaf student who had not shown financial need.  By the time case went to SC, student had already graduated.

(i) Held that liability could be determined only after a trial on the merits and therefore remanded the case for trial.  Liability not equated on whether preliminary injunction was properly issued, b/c that equates “likelihood of success” w/ “success.”  Though holding that appeal on preliminary injunction was itself moot.

(b) Grupo Mexicano de Desarrollo, S.A. v. Alliance Bond Fund – preliminary injunction ordering ∆ not to transfer any of its principal assets.  Π got a judgment, a permanent injunction not to transfer assets and an order to turn over assets to satisfy judgment.

(i) General rule is that preliminary injunction merges into a permanent injunction and that any appeal from preliminary injunction becomes moot.  And ( if permanent injunction is upheld, then any error in issuing preliminary is harmless.  H/w in this case, b/c ∆’s claim was that the order not to transfer assets can only be entered into after a trial on the merits, the preliminary could be error and the permanent not.   Therefore the preliminary was not moot.

5. Damages must be caused by the wrongful preliminary injunction

a) It is not enough that they were caused by the litigation

(1) Medafrica Line S.P.A. v. American West African Freight Conference – preliminary enjoined the collection of a fine from Π.  By the time the preliminary injunction was vacated, Π had b/c insolvent

(a) The fine itself was not damage from the preliminary injunction, but inability to collect the fine was and ( CT enforced the bond against the insurance company 

Declaratory Relief
XV. Declaratory Judgments 
A. General

1. Choosing declaratory judgment v. injunctions 
a) Declaratory judgments 

(1) Avoid irreparable injury requirement 

(2) Settle ongoing controversy (i.e. patent cases)

(3) As an alternative to being sued 

(4) If there is no intent involved 
2. Declaration of rights and responsibilities of the parties 

a) Very similar to a preventive injunction 

(a) Nashville, Chattanooga & St. Louis Railway v. Wallace – Π was arguing that it shouldn’t have to pay state tax b/c it was unconstitutional 
(b) Cardinal Chemical Co. v. Morton Int’l, Inc. – patent case, Π filed claim of patent infringement, Δ filed counterclaim that patent was invalid.  TC found that there was no infringement and that the patent was invalid.  AC affirmed that there was no infringement and that there was no need to decide validity.
(i) CT held that it was permissible for the CT’s to decide on the validity of the patent, even though the Δ was not liable for infringement 
3. Limitations of Declaratory relief 

a) Courts are not going to allow declaratory relief to be used to get around rules SOL

b) Forum shopping

4. Young remedy

a) A suit to enjoin enforcement of the law avoids the dilemma – of either complying and lose constitutional right or don’t comply and suffer penalties – by allowing a ruling on constitutionality w/o risking penalties 

b) Side effect – allows litigation to be brought in fed. CT (b/c fed. question = fed jxn, but fed defense no)

(1) State sues
(a) Case cannot be removed to federal CT

(i) IF state prosecution is pending, cannot sue in federal CT to enjoin either the pending prosecution (Younger abstention)
(2) Railroad sues

(a) May choose either state or federal CT
B. Difference b/t Injunctive and Declaratory relief

	
	Injunction
	Declaratory relief

	Must show
	· Propensity

· Realistic threat of a violation 

· Irreparable harm

· Damages are not as complete and effacious as an injunction 

· Other factors
	· Ripeness (actual controversy)

· Realistic threat of a violation (similar to propensity)

· NO irreparable harm 

	Judgment 
	· Δ is enjoined from doing X
	· Tax is unconstitutional

· This is not an order

· It is just a statement of rights and responsibilities of the parties 

	Effect if Δ ignores judgment 
	· Δ is held in contempt 
· Therefore this is explicitly coercive 
	· Go back to CT and ask for further relief 

· Further relief may include an injunction

· Therefore this is implicitly coercive 

	Res judicata 
	· Res judicata on all issues

· Actually raised

· Could have been raised 
	· No res judicata

· Collateral estoppel on litigated issues 

· Therefore quick resolution on a single issue and can bring stuff later on

· Preserves further issues for another day

H/w cannot bring in other claims for relief.  If other claims included (I want declaration AND specific performance) then res judicata 


XVI. Other Declaratory Judgments 
A. General 

1. This is not declaratory judgments per se, but declaratory in form and something else in function

(1) Form – judgment looks like a declaration

(2) Function – acts as a preventive injunction, restitution, etc.

(a) Inverse – a judgment that is declaratory in function, but something else in form

(i) Nominal judgment

(a) Form – money damages (though $1) and therefore looks like damages

(b) Function – not really a compensatory, but just a declaration

B. Bill to Quiet Title to Personal Property 

1. CT’s are reluctant to give declaratory judgment when there is history of another type of relief available 

(a) Newman Machine Co. v. Newman – threatens to sue for fraud, but never does.  Π sues for declaratory relief.
(i) CT could have ordered an injunction, declaratory judgment, but instead issues a bill to quiet title

C. Reformation 

1. Requirements 

a) Mutual mistake as to what is contained in K

(1) Does not apply if there is a mistake in fact

(a) Illustration – parties enter into K to buy a horse, but then later find out that horse is dead
(i) This is a mistake of fact, not of writing and therefore reformation 

(2) Exception – fraud 

(a) Hand v. Dayton-Hudson – release clause was changed by Δ (through fraud).  Π wants reformation
(i) In this case, there was no mutual mistake of what was contained in the K, b/c only one party was mistaken.  H/w since there was fraud, mutual mistake is not required and therefore reformation 

Restitution
XVII. General 

A. Purpose 

1. Deterrence and punishment
a) Bypassing the market

b) Harsher remedy to deter conduct 

B. Substantive v. Remedy
1. Substantive

a) Unjust enrichment – what is unjust enrichment 

(1) Substantively, not unjust enrichment and ( no restitution 

(a) Officious intermeddler

(b) Good Samaritan, volunteer 

b) When restitution is applicable 
(1) Δ’s gains exceeds Π’s losses

(2) Δ is insolvent 
(3) Where the Π has no other cause of action
(a) Illustration – K for services, some services are done and then the K is found to be invalid b/c of SOF.  Cannot sue for breach of K b/c K is invalid
(i) ( must sue for restitution, that there has been unjust enrichment 
2. Remedy 

a) How much enrichment?

(1) Direct 

(a) Amount of revenue lost by Π b/c of wrongful act  

(b) Loss of goodwill

(c) How much would they have licensed the trademark for

(2) Factors CT takes into account of when determining damages 

(a) Culpability – willful conversion v. mistake
(b) Bypassing the market 

b) Tools for unjust enrichment 

(1) Quasi K

(2) Accounting for profits 

(3) Constructive trust

(4) Equitable lien – a money damage that is secured by a lien created by the CT

(5) Constructive trust – would mean that Π is a ½ owner of the property

C. Election of Remedies
1. If there will be double recovery, cannot have both breach and restitution

a) Also, in some jurisdictions, if you choose breach, then cannot go and choose restitution later

(1) Therefore must figure out what you want in the beginning

2. Purpose of election of remedies was to prevent double recovery

a) However, that is not what happens, as clients are just stuck w/ bad choices made by bad lawyers

(1) Also, how does switching lead to double recovery?

D. Difference b/t restitution and reliance

1. Restitution – not capped by K terms

a) But only if the K has not been completed

(1) General rule – there is no restitution when K is completed 

(a) Makes for interesting claims of, “I haven’t done X and ( K not completed”

2. Reliance – capped by K terms

XVIII. Measuring Δ’s gains 

A. Generally 

1. How much enrichment?

a) Direct 

(1) Amount of revenue lost by Π b/c of infringement 

(2) Loss of goodwill

(a) H/w issue of certainty 

(i) Therefore cannot be awarded, unless presumed by statute 

(3) How much would they have licensed the trademark for

b) Factors CT takes into account of when determining damages 

(1) Willful conversion v. mistake (culpability)

(a) Olwell v. Nye & Nissen Co. – Δ takes and uses Π’s egg washer w/o permission.  Π could have sued for replevin and damages for wear and tear, but does not do so.  Instead, waives tort (waives tort damages) and sues in assumpsit (writ in K that gets expanded to restitution).

(i) CT orders that there be restitution and profits for damages, b/c this was a case of willful conversion (if it was a mistake, may have just ordered damages consisting of rental value or replevin and damages for wear and tear)

(2) Bypassing the market 

(a) Vincent v. Lake Erie Transportation Co. – Δ’s ship was finished unloading and then there was a storm.  If Δ went out, then ship would be destroyed.  Tied ship to dock and caused $500 of damage.  In this case, Δ’s gain (save ship) is greater then Π’s losses (damage to dock).  Therefore restitution applicable. 

(i) CT orders repairs to the docks.  Probably b/c though Δ acted intentionally, b/c of the high cost of negotiations and there was no time to negotiate, it was probably ok (not an attempt to bypass the market)

B. Measuring Δ’s Profits 

1. Determine the gross receipts 

2. Determining Δ’s profits (by subtracting expenses)
a) Variable – may be deducted (not an issue)

b) Fixed – 2 part test (a portion may be deducted, such as overhead)

(1) Is there a nexus b/t the infringing product and the fixed cost?

(2) Is it a fair and acceptable formula for allocation?

(a) More culpable, the stricter the scrutiny 

(a) Hamil America, Inc. v. GFI – floral fabric patterns and ( just a simple conversion.  There is no issue of apportionment, b/c Δ’s labor did not contribute to the final product.  Issue of what kind of expenses should be subtracted in determining Δ’s profits 

(i) All of the fixed costs cannot be deducted, b/c they would have been spent anyway, even if there was no infringement.  Therefore only fixed costs that were involved in infringement.  The test is (1) whether there is a nexus b/t the infringing cost and the fixed cost and (2) is it fair and acceptable formula 

(b) Gastes v. Kaiserman – stealing the song’s music, but not the lyrics.  Δ’s expert said that the music was not important, but that the lyrics were.

(i) CT did improper apportionment

c) Bought and paid for (not followed in all jurisdictions)
(1) Δ cannot subtract out any cost representing the value of the Δ’s own labor

(a) H/w Δ can subtract out any costs representing the value of other’s labor

3. Apportioning profits 

a) Has Δ’s labor contributed to the profits?

(1) Refuse apportionment

(a) For some reasons
(a) Maier Brewing Co. v. Fleischmann Distilling Corp. – Δ infringed Π’s trademark (black and white).  

(i) CT determined that there was intentional infringement.  CT refused to apportion profits, saying that profits was attributable to infringement 
(b) Difficult to apportion and ( no apportionment 

(i) H/w these were earlier cases and may turned out differently if came out later

(a) Callaghan v. Myer – re: head notes

(b) Belford v. Scribner – re: recipes
(c) If infringement makes unprofitable product profitable, then no apportionment 

(a) USM Corp. v. Marson Fastener Corp. – re: blind rivets – if the infringing product moved the final product from unprofitability to profitability, then all the profits and no apportionment 

(2) Reasonable apportionment, erring on the side of protecting Π
(a) Δ has to prove it and if there are doubts, will go against Δ
(a) Sheldon v. Metro-Goldwyn Pictures Corp. – play called “Dishonored Lady” was infringed by Δ and turned into a movie.  Though compensatory damages were possible, sued for restitution b/c Δ’s gains exceeded Π’s losses (another issue of bypassing the market).

(i) CT could have refused apportionment (as in Maier), but instead does so.  Probably b/c the main success of the movie seems to have been Joan Crawford and not the play.  CT accepts testimony  from experts re: contribution of play to a movie and decides on 20% of profits, which is twice as large as the largest % (probably for punitive and deterrent functions).

b) Standing and reputation (not followed in all jurisdictions)
(1) When jury allocating, cannot take into consideration standing/reputation as contributing to profits

XIX. Restitution Remedies
A. Generally types of remedies 

1. Quasi K

2. Accounting for profits 

3. Constructive trust

4. Equitable lien 
B. Quasi-K

1. Legal remedy – CT implies a K of law, even though there really is no K
2. Results in a monetary judgment 

a) No tracing and no preference in bankruptcy 

C. Accounting for Profits
1. General  
a) Equitable remedy – places a duty on Δ to account for all profits
(1) Can result in:

(a) w/ a constructive trust 

(i) Tracing

(ii) Preference 

(b) w/o a constructive trust 

(i) No tracing 

(ii) No preference 

2. Profits = (gross receipts) – (expenses)

(a) Maier Brewing Co. v. Fleischmann Distilling Corp. – Δ infringed Π’s trademark (black and white).  
(i) CT determined that there was intentional infringement.  CT orders accounting for profits = (gross receipts) – (expenses).
D. Constructive Trusts
1. Generally

a) Equitable remedy – places a constructive trust on an identifiable benefit

(1) Allows for tracing

(a) Gains – follow the money

(b) Preference – in bankruptcy 

2. Constructive trust is a fiction, where Δ is acting as a constructive trustee for the benefit fo the Π
a) H/w this is not really a trust 

(1) Just a way to trace Δ’s gains 

(a) Snepps v. United States – CIA agent signs K that says (1) won’t tell secrets and (2) will get pre-publication review.  Δ then releases a book and US sues (though conceding that no secrets were revealed in the book and that if submitted, would have been approved).
(i) CT issued a constructive trust
E. Equitable lien

1. Money damage that is secured by a lien created by the CT

a) If money damages are not paid, then the Π’s option depends on Jurisdiction 

(1) Force sale and receive ½ of proceeds

(2) Cannot force a sale, but have to wait and if the property is later sold, then get ½ of proceeds

(a) Robinson v. Robinson – Π and husband built a house on parent’s property (Δ), but the property was never deeded to the Π and husband.  There was a divorce later.

(i) Δ knew that Π was building the house but did not object.  Therefore the CT places an equitable lien.  Re: husband’s ½ interest, since the husband disclaimed his interest in the house, cannot place an equitable lien on it.
XX. Restitutions – Tracing 
A. General

1. Requirements for tracing in bankruptcy

a) Fraud, misappropriation (sometimes mistake)

b) Identifiable asset

(a) Hicks v. Clayton – Δ can’t pay back creditors b/c has more debts then assets.

(i) In this case, there is fraud, and therefore the first requirement for a constructive trust is met.  There is also a an identifiable asset, in this case, real property.  H/w the TC gave damages instead of a constructive trust.  H/w choice of remedy is at the discretion of the TC.

2. Requirement for Identifiable Assets
a) Generally 

(a) Teletronics – ad in a newspaper for sale of watch.  There was no watch, but Π’s sent in money.  Issue here is what’s the difference b/t the buyers of the watch and the other creditors (i.e. landlords, banks, etc.) who were also defrauded?

(i) Buyers of the watch have an identifiable asset (funds that they sent in), whereas the other creditors don’t have anything that can be identified 

b) H/w it is not always that way.

3. Requirement for Fraud
(a) In re North American Coin & Currency, Ltd. – biz was having financial problems.  Biz therefore set up a special account for receipt of monies were received recently.  Biz then goes into bankruptcy.

(i) Though there is an identifiable asset (fiction), there was no fraud.  Since there was no fraud, cannot recover.

B. Co-mingled funds
1. When applicable

a) When Δ has taken money from Π
b) Placed in an account that already has his own money

2. Presumptions 
a) When Δ takes money out for a bad investment
(1) Presumed that Δ takes his own money out first 
(a) Remaining money in account is Π’s
b) When Δ takes money out for a good investment
(1) Presumed that Δ has taken Π’s money out

(a) ( trace to good investment 
(i) Bankruptcy proceedings

(a) If proceedings, then trace to identifiable assets 
(b) If no proceedings, then trace to full amount 

c) Lowest intermediary balance rule 

(1) When new money is added to co-mingled account, presumed to be that of Δ’s

C. Tracing to 3rd Parties
1. 3rd parties status

a) Donee v. BFP

(a) Rogers v. Rogers – Π and decedent divorce and as a condition of divorce, decedent is to maintain life insurance.  Decedent loses job and life insurance.  Remarries, gets a new job and new life insurance.  Decedent dies.  Funds are paid to new wife.

(i) There is a breach of K.  H/w normal K remedies are not effective, b/c the estate is probably insolvent.  Therefore trying to place a constructive trust on proceeds and then trace to new wife.  Though there is no identifiable asset (insurance stopped, then started again), b/c of equity, will relax rules and allow tracing in this case.  In this case, 2nd wife is a donee and ( will relax and allow tracing.

(b) Robinson v. Robinson – Π and husband built a house on parent’s property (Δ), but the property was never deeded to the Π and husband.  There was a divorce later.

(i) Δ knew that Π was building the house but did not object.  Therefore the CT places an equitable lien.  Re: husband’s ½ interest, since the husband disclaimed his interest in the house, cannot place an equitable lien on it.
2. Disclaiming interest 

a) Person trying to make a claim is the government and therefore CT’s are not going to allow that

b) There was a absolute right in Drye, whereas in Robinson the husband had to sue for his right 

(a) Robinson v. Robinson – CT said that the husband can disclaim his ½ interest in the house to prevent the Π from placing an equitable lien on the house

(b) Drye v. United States – father owed money to IRS for taxes.  Received an inheritance and disclaimed it.  Since he disclaimed it, the inheritance went to his daughter.  Daughter then opened a trust w/ the beneficiary being the father.

(i) CT held that this was not permissible, that you can’t disclaim an interest to avoid paying taxes

XXI. Other Restitutionary Remedies 

A. Rescission
1. Generally 

a) Restitutionary kind of remedy

(1) If don’t undo K, party will receive unjust enrichment and ( must undo it completely

(a) Mutual Benefit Life Insurance Co. v. JMR Electronics Corp. – key man insurance policy where Δ made misrepresentation re: smoking.  Π aruges for recission b/c of misrepresentation of material fact.

(i) CT declines Δ’s argument (that Δ should pay the smoker’s premium and Π should pay the proceeds).  Instead rescinds the K, so that Δ gets back his premiums and Π gets back his promise to pay.

2. Requirements 

a) Is there a K?

(1) Rescission is only available if there is a K

(a) There must be something to undo

b) Has there been a misrepresentation?

(1) If yes, then rescission is permissible 

c) Does intent of party that wants to rescind matter?
(1) No motive is irrelevant

(a) Thus, what has happened is that people have used this to get out of bad deals

(i) This has acted as a strong deterrent against fraud and misrepresentation

(a) If misrepresent, don’t just have to pay for damages,
(b) But may have to rescind K as well

d) What if party has made improvements?

(1) Costs for improvements may be recovered under unjust enrichment 

(a) What if improvements are very large?

(i) CT’s may be wary of improvements that cost a lot of money

(b) What if the other party cannot pay for improvements?
(i) Place a lien on the property

(2) What if party claims that the improvements is not an improvement?

(a) For an issue of aesthetics, hard to say that there is no improvements 

(3) Motive is not relevant

B. Subrogation
1. General 

a) Types of subrogation 

(1) Legal – right that does not arise out of a K

(a) Equitable right

(b) Restitutionary type of device that allows stepping into shoes of another party

(2) Conventional – right that arises out of K

(a) Express or implied agreement to repay that is in a contractual relationship
(i) i.e. health insurance 

b) Restitutionary in function

(1) If not permitted, then there would be unjust enrichment 

(a) If X has paid 3rd party for something that Y was liable for, but paid it for reason other then liability (i.e. good business relations)

(b) If X is not allowed to sue in 3rd party’s place, then Y has been unjustly enriched 

2. Requirements 

a) Claim or debt under which subrogee asserts his rights must have been paid in full

b) Subrogee paid a claim or debt for which a 3rd party is primarily liable in either law or equity

(1) What if 3rd party is not primarily liable (50/50)?
(a) Then subrogation is not possible, b/c the second requirement has not been fulfilled

(i) H/w may sue for either contribution or indemnity

(a) Contribution – sue for pro rata share of liability

(b) Indemnity – sue for a complete shift 

(i) Can also sue for partial equitable indemnity
c) Subrogor must possess a right which he could enforce against a 3rd party 

d) Potential subrogee can’t be a volunteer

(1) Does not have to be strict K or a final judgment

(a) Potential liability is sufficient

(b) Maintaining good business relationships is enough

(i) The CT is basically saying that the volunteer requirement does not make any sense and therefore is watering it down

(a) American National Bank & Trust Co. v. Weyerhaeuser Co. – because of a mistake (don’t know whose mistake) BD was not able to sell their stocks and therefore received injury of $70,000.  Π makes up the difference.
(i) Since all of the requirements are met, subrogation is allowed
C. Legal remedies w/ restitutionary functions 
1. Remedy for the return of personal property 
a) Damages (trover) – sue for the value of the property at the time it was taken

(1) Trover – when value of item depreciated or damaged so as to reduce its value

b) Replevin and damages – sue to have the item returned and damages for loss of the use of the item

(1) Replevin – when value of the item has appreciated
c) Equitable replevin – replevin w/ the power of contempt behind it (just like an injunction)

(1) Must be available in jurisdiction 
(a) If they don’t have it, just ask for an injunction

(2) If personal property that has been taken is hidden or is out of the jurisdiction of the CT

2. Ejectment – legal remedy to get the return of real property 
a) Results in a judgment that the property belongs to one party

(1) May also sue for damages, for the loss of the use of their property 

3. Detainer – landlords remedy for the nonpayment of rent 
4. Restitutionary b/c giving Π what they lost and preventing Δ from retaining something that they don’t deserve
Punitive Damages
XXII. General 

A. Purpose of punitive

1. Primary function is to punish and deter

2. Compensatory function in that damages go directly to (, and ( is a kind of compensation.  
a) Move ( beyond rightful position.  
(1) H/w not tied to the rightful position.  
(a) Compensate in a way that is not tied to the rightful position.  
3. Declaratory element in that you are trying to send a message to the (.  
4. Practical role

a) Contingency fee basis   
(1) Must pay part of award to lawyer and therefore not fully compensated 

(2) Punitive damages can help bridge the difference 
b) Worthwhile lawsuits 
B. Punitives and deterrence
1. If purpose is deterrence, why isn’t compensatory damages sufficient?
a) Sometimes the law underestimates damages (i.e. dignitary torts)

b) Damages are hard to detect (i.e. fraud)

c) Would otherwise make litigation too expensive

d) May be just the cost of the act (i.e. angry assailant)

2. On the other hand, lots of punitive damages will be overkill and will lessen its deterrent effect

a) Therefore

(1) Argument for no punitives

(2) First comer 

(a) Both was rejected

(b) Possibility of additional suits is part of the equation 

XXIII. Whether to award punitives 

A. California standard 
1. Requirement 

a) Action not arising from K

b) Oppression, fraud, or malice (express or implied)
(1) Oppression ( physical invasion, harm, or threat [intentional torts – battery / assault]
(2) Fraud ( affirmative misrepresentation of material facts
(a) Failure to disclose is NOT fraud UNLESS person is a FIDUCIARY
(b) Concealment is fraud 
(3) Malice – “conscious disregard of probability that the actor’s conduct will result in injury to others”

(a) Can not get punitive damages for mere negligence 
(i) Hit a pedestrian while talking on cell phone is not malice.

(b) H/w do not need a specific intent to injure
(a) Grimshaw v. Ford Motors Co. – TC reduces the award to $3.5 million and both parties appeal.  The question is whether Ford’s conduct was bad enough to allow for punitives?

(i) CT held that punitives were properly awarded, b/c the definition of malice was proper.  Also found that though compensatory damages may be a sufficient deterrent in other arenas, in business, may be just the cost of doing business.
2. BOP

a) Clear and convincing evidence of “express” or “actual malice”

(1) Actual motivation of ill will toward victim
b) Conduct that is “so outrageous that malice towards person injured as result of conduct can be implied”

(1) Malice cannot be implied from reckless disregard of the circumstances 

(a) Tuttle v. Raymond – 

B. The Constitutional Standard

1. 8th Amendment and “excessive fines”

a) Not applicable b/c only applies to sums payable to the government 

(1) Not to awards of punitive damages in cases b/t private parties 

(a) Browning-Ferris Industries, Inc. v. Kelco Disposal, Inc. – 

b) What if the state receives the punitives?

2. Substantive due process 
a) If punitives are too high, then there is a violation of substantive DPC

(1) Therefore ratio of 4:1 was near the constitutional limit 

(a) Pacific Mutual Life Insurance Co. v. Haslip – insurance broker pocketed health insurance premiums, leaving Π’s w/o coverage 

(i) SC upheld million dollar punitives against insurance company for refusing to pay Π’s hospital bills and found that there was vicarious liability.  Also stated that when a punitive award is too high, it may violate the DPC.  Found that the ratio of 4:1 was close to the line of constitutional excessiveness

(2) Ratio of 500:1 was even closer to the line 

(a) Compare punitives with the amount that victim may have suffered 
(a) TXO Production Corp. v. Alliance Resources Corp. – Π bought mineral rights from Δ (which promised royalties to run in the million).  Π then bought the same rights from 3rd party and then filed a claim that the 3rd party was the actual owner.  Δ counterclaimed for slander of title.  TC awarded $19,000 + $10,000,000 and found that Π’s claim was frivolous, that they attempted to manufacture evidence and had engaged in similar conduct in other states.

(i) SC held that the ratio of 500:1 raises a judicial eyebrow, but wasn’t in violation, b/c was not disproportionate to the damages that Π may have caused Δ through the loss of future royalties 
(3) 3 guideposts for determining whether punitives are too high
(a) Reprehensibility

(b) Ratio

(i) The higher the ratio, the more likely that it is unconstitutional 

(c) Sanctions for comparable conduct 

(i) If the amount is low for other conduct, then not a reason for high punitives

(ii) Rather means that the conduct is not really that bad

(a) BMW –  Π buys a BMW, gets it detailed and finds that the car has been repainted.  Sues and gets $4,000 in compensatory damages on a $40,000 car and $4,000,000 in punitives.

(i) CT recognized a punitive award that was unconstitutionally too high; this case will apply to every court across the country

(b) Campbell – Δ was driving on a 2 lane highway and attempted to pass traffic forcing someone else to swerve and crash, causing fatal results.  Δ sued for negligence and wrongful death.  Δ’s insurance says that they were going to reject the settlement offer ($25,000).  Case went to trial and there was an award of $185,000 against Δ.  Δ then brough this own claim against insurance company for bad faith.  Awarded $145,000,000 in punitives

(i) Reversed, b/c it was not that bad and there was no physical harm.  There must also be a close nexus b/t the conduct and the claims of the case.  Re: ratio, when compensatory is very high, the ratio must be very low.  Wealth is no longer relevant.

b) Procedures for review by AC and no violation
(1) If there is a process of review, then there is no violation of substantive DPC

(a) Generally

(a) Pacific Mutual Life Insurance Co. v. Haslip – insurance broker pocketed health insurance premiums, leaving Π’s w/o coverage (see above)s

(i) Also, since there was in place a process of review of punitives (7 factor test), this assured due process.

(b) However, if there is no review, then violation of due process

(a) Honda Motor Co. v. Oberg – provision of OR constitution entirely precluded judicial review of the amount of damages awards

(i) Reversed award, b/c power of CL judges to set aside excessive verdicts was an essential component of due process 

C. Difference b/t CA and US standards 

	CA Standard
	US Constitutional Standard (“guideposts”) (applies in every state regardless if the state has a standard or not via SDP)

	(’s reprehensibility – the worse conduct, higher the amount of damages
	Same

	Ratio – punitives to compensatory damages, the idea is to have a low ratio
	Ratio, but actual + potential damages – we look to the ratio of punitive damages to actual and potential damages, if the jury awards 50K in actual damages, but because ( was stopped, maybe he would have done another 50K, so the award is 100K, HERE, the ratio would be 1:1, not 2:1 as in CA… this is not a hard and fast rule

	Wealth of ( - if the purpose is to punish and deter, then the more wealth, the higher the damages
	Sanctions, if low, then low punitives – this is opposite of the CA court, low sanctions means that the action isn’t that bad and punies shouldn’t be that high either

	Sanctions, if low, then high punitives – if the other sanctions are low, then the punitives should be high because the other sanctions don’t serve enough of a deterrent value, so higher punitivies to get the deterrent effect
	Wealth relevance (?)


XXIV. Reviewing punitive awards

1. Wealth of (
a) Should be ignored and instead focus on Δ’s gain

b) Corp. wealth should be ignored, b/c it is not wealth in the traditional sense of the term

(1) Just earnings that have not been distributed to investors

(a) And investors are of just average means 

c) High enough to get the attention of the corp.

(a) Campbell v. State Farm – reinstating $145 million award, b/c earlier $100 million was not even reported to corp. HQ

2. Reprehensibility of conduct

3. Ratio of compensatory damages versus punitive damages

a) Maybe this is because the comp award could be indicating reprehensibility

(1) NOTE that in CA, you can ask for a bifurcated procedure

(a) 1st trial – substantive issues

(b) 2nd trial – determination of damages 
b) What about nominal damages 

(a) Jacque v. Steenberg Homes, Inc. – over Π’s vigorous protest, Δ plowed a path through teh snow accross their open field and pulled a mobile home through teh path for delivery to neighboring property.
(i) CT emphasized that the right to exclude might be hollow if there was no effective remedy.  Also, w/o punitives, Δ might conclude that it’s better to pay $30 criminal fine for intentional trespass whenever it was more convenient to deliver a mobile home across someone else’s land.

c) Hard to measure

(a) Donnell v. Lara – award of $12 compensatory damages + $4,500 for obscene phone caller 

XXV. Punitive Damages in Contract

A. Rule
1. General
a) Punitive awards cannot be awarded for breach of K

2. Exception 

a) Punitive awards may be awarded for breach of K, IF there is an independent tort committed in the K setting 

(1) Fraud in the inducement 

(a) Formosa Plastic Corp. v. Presidio Engineers & Contractors – Δ entered into K consciously intending not to perform.  Therefore special case of fraud in the inducement and thus there was a basis for punitives
(2) Conversion – in many breaches, Δ takes or retains money or property that belongs to Π
(a) Haslip – may have argued that agent converted their premiums

(b) Texas National Bank v. Karnes – bank repossessed a van, held it for 5 years, collected the debt in full by debiting the debtor’s saving account

(i) CT allowed $20,000 in punitive for conversion and fraud 

(3) Negligence – gross negligence (since ordinary negligence is not good enough)
(a) Jim Walter Homes, Inc. v. Reed – grossly negligent construction of a house is just a breach of K.  also, Δ’s negligence or Δ’s product injures a person, or damages property other than the property to be delivered under K, tort committed (economic harm rule – there must be physical impact on a person or thing other then the product)

(b) Brinks Inc. v. City of NY – Brinks’ EE’s stole $1 million from money they collected from NY City parking meters.  High level EE’s failed to investigate, despite ample evidence of irregularities
(i) Upheld $5 million in punitive for negligence in hiring EE’s, not for the conversion

(4) Tortuous interference w/ K or business relations
(a) American National Petroleum v. Transcontinental Gas Pipeline Corp. – Π’s refusal to buy gas from Δ caused breaches of other K’s (balancing agreements) and this interference was the independent tort that supported punitives 

(5) California and bad faith denial of K’s existence 

(a) Bad faith denial of K’s existence 

(a) Siemens Direct Buying – S had a K w/ Standard Oil, but SO breached.  S doesn’t get oil and goes out of business.  S then sues SO for both K and tort (bad faith denial of K’s existence).

(i) CASC recognizes new tort and ( opened up both actual and punitive damages.

(b) Bad faith denial of K’s existence rejected and is no longer good law

(a) Freeman – Δ stated that they were not going to pay b/c there was no valid K and therefore would have entitled Π to tort damages.
(i) CASC rejects the bad faith denial of K tort.

(6) Negligence in K action means no punitives

(a) H/w leaves open the door for whether there would be punitives in intentional 

(a) Erlich – Δ K’s w/ Π’s to build dream house, but it is a disaster.  Π’s suffer a lot of emotional distress and sue for emotional distress.

(i) CASC holds that if you allege negligence, then no tort and therefore no punitives.

b) Punitives may be awarded b/c of R/S b/t the parties (malpractice and other R/S’s)
(1) Insurance company

(a) You don’t pay insurance premiums, then insurance company limited to breach of K suit

(b) Insurance company doesn’t pay proceeds, then it may be a tort (bad faith)
(i) Reason for not paying proceeds ( not a tort and only K damages available

(ii) No reason for not paying proceeds ( independent tort and punitive available 
(iii) Utah, the conduct of SF was found bad enough to make the claim into a tort

(iv) HERE, there was emotional distress (Campbell) as well which is unusual

(2) Employment context 

(a) Previously, if fired w/o cause, able to receive all kinds of damages

(b) Under Foley, not able to anymore 

(a) Foley – SC rejected idea that the EE-ER relationship was like that of the ins-insured relationship

(3) Accountant malpractice

(a) Does terrible job on tax return, if conduct is bad enough, may be a tort on top of breach

B. Other Punitive Remedies

1. Statutory penalties with payments to the state or consumers

a) Violating truth in lending law or various statutes can lead to sanctions

b) Most famous would be antitrust

c) Sometimes these work, sometimes they don’t

2. Big constitutional question – what kinds of process received b/4 paying penalties? 

a) Really a criminal prosecution in disguise

(1) Δ gets all criminal procedures 

(a) i.e. right against self-incrimination, right to counsel]

(2) CT rarely finds civil penalty as criminal prosecution

b) Not criminal prosecution -  purpose of the statute is civil punishment

(1) D gets some constitutional protection

(a) i.e. excessive fines clause, prohibition against double-jeopardy]

c) Purpose of statute is solely remedial, not criminal prosecution or civil punishment 

(1) Solely trying to give compensation so no special protections 

Right to a Jury Trial
XXVI. Federal Right to Jury Trial 
1. 7th Amendment 

a) In a civil suit in CL where the amount exceeds $20, the right to a jury trial shall be preserved 

2. What if it is a new cause of action and therefore did not exist in CL?
a) 2 step process

(1) Is there a CL analog?

(a) If there is, must focus on the issues to be tried

(2) Look at the remedy and determine whether the remedy sought is legal or equitable

(a) This second question is more important then the first

(a) Chauffeurs Local No. 391 v. Terry – suit against the UN for a breach of the duty of fair representation.  Π (UN members) wanted an injunction against the UN and reinstatement from the ER.  ER went bankrupt and Π dropped the demand for reinstatement.  Whether Π’s were entitled to a jury trial on this issue?
(i) Though this looks like a trust R/S, what is being sought are damages and therefore there is a right to a jury trial.
3. What do you do when there are both legal and equitable remedies being sought at the same time?
a) Typically, try the legal issues first and have the jury do the fact finding and then have the judge resolve the equitable issues  

XXVII. State Right to a Jury Trial 
1. CA Constitution says that trial by jury is an inviolable right and therefore secured by law

a) Reference point is 1850, not 1791

(a) Hung v. Wang – conspiracy to commit fraud b/t lawyers who represent corporation and members of the corporation against Π (former members of corporation).  Whether Π is entitled to a jury trial under the CA constitution?  Statute says that when there is a claim against an attorney, before the trial, there must be a preliminary showing w/ the judge acting as gatekeeper.  Π argues that this is a violation of his right to jury trial.
(i) CT finds that this is similar to a summary judgment mechanism and that since there is no weighing involved, but only looking at one side, this is only a procedural tool that does not violate the right to a jury trial 
Ancillary Remedies
XXVIII. Contempt 
A. General 

1. Steps for contempt

a) Injunction issues

b) CT threatens penalties

(1) Gives fair notice of cost of noncompliance

c) CT imposes penalties

(1) No jury trial 

(a) Exception – Bagwell

(2) Standard of proof 

2. 3 Types of Contempt (chart)
	Type of contempt
	Purpose
	Brought by whom?
	Right to jury trial?
	Collateral bar rule?
	Level of proof

	Criminal
	· Punish for past conduct

· Not conditional on future compliance 
	Gov
	· Jail time greater then 6 months

· Some monetary fines
	Yes
	· Beyond a reasonable doubt that Δ willfully violated injunction 

	Compensatory civil
	· Compensates Π
· Like damages or restitution 
	Π
	· No

· But some states allow civil action for damages w/ jury trial
	No
	· Clear and convincing evidence Δ violated injunction 

	Civil coercive 
	· Conditional penalty to coerce future compliance 
	Π
	· Questionable after Bagwell when there is a right to a jury trial 
	No
	· Questionable after Bagwell if more than clear and convincing  


3. 3 types of contempt (list) 
a) Civil coercive contempt
(1) Coercive kind of ancillary remedy meant to ensure compliance w/ a CT order 
(2) consisting of either fines or imprisonment 

(3) There is a punitive aspect, but the purpose is to coerce 

(a) Main aspect of CCC is that Δ has the keys to the jailhouse in 

b) Criminal contempt

(1) Punish for past conduct, not conditional on future compliance 

(2) Get all the protections of criminal proceeding

(a) Beyond a reasonable doubt that Δ willfully violated injunction 

c) Civil compensatory contempt 

(1) Compensate Π for damages for period of noncompliance 

(2) Clear and convincing evidence of a violation
(a) Not available in CA

B. Criminal Contempt 

1. Requirements 

a) Procedures 

(1) Punishing for past conduct
(a) Not conditional on future compliance

(2) Brought by the government 

(3) Showing that Δ willfully violated injunction 
(a) Must be proven beyond a reasonable doubt 

b) Right to jury trial

(1) Severe monetary fines OR

(2) Jail time greater than 6 months

2. Civil coercive contempt proceedings require criminal procedures WHEN
a) Generally 

(1) Activities are outside the presence of the CT AND

(a) Issues

(i) Doe that mean literally outside the presence of the judge?  OR

(ii) Does it mean whether the issue is complex or not?

(2) Involve serious penalties 

(a) What is a serious penalty

(3) Whether holding the keys is dispositive

(a) That is not relevant, b/c that is true for all criminal laws

b) Concurrences 

(1) If events occur outside, then must have full criminal proceedings (Scalia)

(2) If money is going to the state, then it should be considered criminal contempt (Ginsburg)
(a) International UN, United Mine Workers v. Bagwell – TC awarded an injunction against UN, enjoining certain activities.  UN violated injunction.  Whether the contempt fine is criminal (( right to jury trial) or civil coercive (( no right to jury trial).

(i) When activities are outside the presence of the CT and involve serious penalties, then it is criminal contempt and ( need to have a right to jury trial (CT is basically concerned w/ the CT’s use of contempt power in an unchecked manner)

(3) Serious penalty

(a) What is a serious penalty?

3. Collateral Bar Rule
a) General 
(1) Collateral bar rule does not apply in civil coercive or civil compensatory contempt proceedings.  

(a) No need to pay fines if there is reversal on appeal 

(b) H/w collateral bar rule does apply in criminal contempt proceedings 

(2) Why do we have the collateral bar rule?  Is it a good idea?

(a) OTOH, CB rule prevents exercise of constitutional rights (Walker v. Birmingham)

(b) OT1H, CB rule prevent disobedience that result in dire consequences (US v. Shipp)

b) Ways to attack statutes and CT orders

(1) Statutes 

(a) Direct attack

(i) Challenge the statute on its face

(ii) Seek declaratory or injunctive relief 

(b) Collateral attack

(i) Violate the statute and then defend on grounds of unconstitutionality 

(2) CT orders

(a) Direct attack

(i) Appeal the injunction

(b) Collateral attack

(i) Not permissible 

c) Rule 
(1) It is not permissible for a party to violate the order and then defend on grounds of its invalidity

(i) Walker v. City of Birmingham – Π required that a permit must first be granted before parades were permitted to go forward.  Requested and denied.  Π then requested and got an injunction.  Δ’s then marched.  In the criminal contempt proceedings, argued that injunction was invalid.

(ii) Under the collateral bar rule, that cannot be done.  Injunctions must be obeyed to preserve the power of the CT’s

(2) Exceptions 
(a) Transparently invalid or frivolous pretext of validity 

(i) H/w don’t know where the line is and must be pretty bad for exception to work 

(a) In Walker, the 1st Amendment jurisprudence was well enough established that the Birmingham ordinance was known to be unconstitutional, and therefore why didn’t that qualify under this exception?

(i) That was the focus of the Brennan’s dissent 

(b) Delay or frustration of consideration of the claim 

(c) Lack of jurisdiction – In re Green
(i) Must be an unquestionable lack of jurisdiction for this exception to apply

(ii) H/w exception does not apply when CT is considering whether it has jurisdiction 

(a) US v. Shipp – Shipp was the sheriff of Hamilton County and had custody of a black prisoner, Johnson.  Johnson filed for a writ of habeas corpus and the CT issued a stay in the execution.  Shipp disobeyed the injunction and Johnson was lynched.  Argued that the CT lacked jurisdiction to hear the habeas corpus and therefore did not have to follow the stay

(i) CT rejected the argument 

C. Civil coercive contempt
1. General 

a) Requirements 

(1) Conditional penalty to coerce future compliance

(2) May require criminal procedures in certain cases 
(3) Level of proof is clear and convincing

(a) H/w questionable after Bagwell
b) Balancing – determining the right amount of coercion  

(1) High enough that it will have a coercive effect

(2) Not so high that it will be reversed on appeal 

2. Perpetual Contempt 

a) Civil coercive contempt only works if it has the power to coerce

(1) If it lacks the power to coerce, then it is just punishment and ( CCC is not appropriate 

(a) Therefore the person must be released 

b) Standard 

(1) Whether substantial likelihood that continued incarceration would accomplish the purpose of causing the person confined to comply w/ the order on which the confinement is based 

(a) Must look at individual facts

(i) Psychological testimony that the person will not comply

(ii) Testimony of Δ
(iii) Just a few examples to show that there will be no compliance

(b) H/w may serve as basis for criminal contempt

(i) B/c shows that there was a willful violation of the injunction 

(a) Anyanwu v. Anyanwu – husband and wife went to Nigeria, than wife and husband returned separately w/ the children staying in Nigeria.  Custody battle and CT ordered the husband to produce children and when he didn’t, held him in contempt and placed him in jail.
(i) Found that CCC did not have any power and therefore ordered release
(b) Catena v. Seidl – sub poenaed to testify, but refused and therefore imprisoned

(i) CT held that based on a variety of factors, the person was not going to testify and therefore no power to coerce and therefore must release 

(ii) Note: this decision was controversial, b/c gives hope to people that if they hold out long enough, then they will be released and ( don’t have to comply
D. Civil Compensatory contempt ( damages or restitution for delay in complying w/ injunction
1. Civil remedy sought by PL
a) Damages ( give P some money to compensate for delay in complying
b) Restitution ( take away any gains that D acquires from delay in complying
2. No jury trial 
3. Action brought by the PL and fines go to the PL, not state
4. Standard ( clear and convincing evidence that injunction was violated, BUT it doesn’t have to be willful violation 
5. BUT….CA doesn’t allow for compensatory contempt
a) Must file a separate lawsuit seeking damages
(1) Irony ( Have prove damages inadequate to get injunction want, later want damages b/c better than nothing
(2) Right to jury trial 
(3) Preponderance of the evidence (instead of clear and convincing evidence
(4) Advantage for Π’s in CA b/c lower standard of proof than compensatory contempt action [even though right to jury trial]
E. Anticipatory Contempt 
1. 18 USC § 401 – contempt can be punished for disobedience or resistance to its lawful writ, process, order, rule, decree or command 

(a) Griffin v. County School Board – BG of Brown v. Board of Education, where city decided to close the schools and instead paid tuition grants to white children to go to private white schools.  CT held that such grants were not permissible.  TC ordered that the grants could not be issued for the previous year, but would not enjoin the grant for the future.  H/w clerk of the CT asked the Δ not to circulate any grants during pendency of appeal.  Before AC came back into session, Δ’s distributed the checks.
(i) Since the Δ knew that future grants were going to be enjoined, they were trying to avoid it by their actions and (there is contempt 
F. Rights of 3rd parties
1. The basic question is when, if ever, may a 3rd party be held in contempt for violating an injunction?

a) Related, but different questions

(1) When can a CT issue an injunction against a party that is not an adjudicated wrongdoer?

(a) General Services Contractor – when the order is minor or ancillary

(2) When can a CT burden a 3rd party w/ an injunction?

(a) Hills v. Gautreaux and Missouri v. Jenkins – heavy burden is permissible, but not restructuring 

b) Poses a different question

(1) When can a third party be held in contempt of a minor or ancillary order w/o making him a party to the order AND w/o notice of the hearing and a chance to argue against it?

c) FRCP 65 (d)

2. General Rule

a) CT can bind a nonparty IF

(1) There is notice of the injunction,

(2) It is in rem AND

(3) Necessary to effectuate its orders 
(a) United States v. Hall – desegregation of schools and there was racial unrest at the schools.  The racial unrest led to an order from the CT that said that if you don’t have official business on the school campus, then you are enjoined form entry onto the campus (to the whole world and those that have notice).  Δ violated the order and sentenced to 60 days imprisonment.  Δ argues that CT exceeded its authority.
(i) FRCP was not meant to replace the CL, but to embody it and therefore the CT had jurisdiction under the CL.  An example of this would be in rem proceedings and that the CT has inherent power to punish those parties that interfere w/ CT’s orders
XXIX. Collecting Money Judgments

A. General

1. Judgment is not an order to pay money to Π
a) It is a piece of paper that says that Π is entitled to money payable by Δ
2. Judgment for money damages does not have coercive effect
a) CT’s law do not have coercive power 

B. Execution

1. General 
a) Must find the assets that belong to ∆ and then get a writ of execution

(1) Give the sheriff the writ, sheriff gets the assets

(2) Sells it and give proceeds to Π
b) What can you seize?

(1) Can seize anything

(a) Exception – unless the item is exempt 

c) What if you can’t find anything, other then exempt items?

(1) Garnishments OR

(2) Wait and collect a little every year until there is satisfaction 

d) How do you know if ∆ has certain assets?

(1) Post-judgment discovery 

(a) Deposition of judgment debtor

(b) Subpoena written documents 

e) Problems that may arise 

(1) Liens – items that you may want to take may have a lien on it

(2) ∆ may declare bankruptcy 

f) Note: when attorney looks at representing a Π, does not look at just chance of success, but also whether ∆ can pay

2. Sheriff’s conduct

a) Majority – sheriff needs to actually exercise dominion over the property
(1) Boot the truck

(2) Actually take possession of the truck 

b) Minority – it is enough for the sheriff to declare that they are executing on behalf of the county
(a) Credit Bureau v. Moninger – Bureau obtains a default judgment against debtor.  Debtor then gets a loan from Bank and pledges security interest of truck to Bank (h/w this is not recorded).  Bureau gets a writ of execution.  Sheriff then executes on the truck.  Bank then records security interest in truck.  Truck is actually seized.
(i) CT finds that the sheriff acted properly in the writ of execution and therefore the interest of the Bureau is superior to that of the Bank
3. California Rule: CCP 697.510
a) Suppose that creditor #1 gets the judgment first, but that creditor #2 files the lien first.  

(1) In this type of situation, #2 then gets priority over #1.

b) Priority is based on who files the lien first

(1) It is not based on who gets the judgment first 
(2) Priority is based not on who got judgment first, but who files the lien.   
c) After 5 years, the judgment lien expires 
C. Garnishment
1. Generally

a) Action against 3rd party who owes money to the judgment debtor

(1) Oftentimes banks and ER

(a) Re: exemptions and wages

(i) Usually limited to 25%

(ii) Child support cases, can go up to 60%

b) Terms

(1) Garnisher – judgment creditor

(2) Garnishee – banks or ER’s

c) If the garnishee does not owe any money to judgment debtor, then that’s the end of it

(1) H/w the garnishee cannot decide to give preference over the judgment debtor over garnishers
2. Garnishee

a) Has a duty to pay money to garnishee if a writ of garnishment is filed
(a) Dixie National Bank v. Chase – Π is garnisher, Dixie Bank is the garnishee and Gore is the judgment debtor.  Π files a writ of garnishment directed towards Bank for all the money that belongs to Gore.  Bank responds that Gore has only one account ($32).  H/w Gore actually had another account w/ $13,000.
(i) Once garnisher files, anytime that money comes in, money is suppose to go to Π.  Bank failed to do this and now has to pay out money to both parties.
3. Voluntary Payment
a) Depends on who the Δ is

D. Coercive Collection of Money 
1. Normally, coercion is not used for the collection of money

2. H/w there are special rules for contempt power to coerce payment of money

a) Willfulness 

(a) In re Marriage of Logston – H is giving up house so W has to pay him.   H had some income from social security, disability, etc.   H does not pay maintenance.    W goes through with garnishment proceedings with disability insurer.  The amount owed rises to $4K and judge says pay in 30 days or go to jail.  H argues that disability is an exempt asset and therefore cannot be garnished.
(i) CT says that rules in family law are different and that this is a contempt order, that CT is not garnishing anything in particular, but just putting him in contempt for not paying.  Looking at all of his expenditures, he was able to pay, but decided not to, and therefore willfulness is there.
XXX. Litigation expenses
A. General

1. English Rule – loser pays 

2. American Rule – each party pays their own fees

a) Does not place people in the rightful position

(1) Π is wronged and sues, wins judgment.  But, since they have to pay for the litigation expenses, they are not in their rightful position, but are in a worse position (damages – litigation expenses)

(2) Δ is sued and wins, and therefore does not have to pay damages.  H/w since they’ve had to pay for an attorney to defend themselves, they are in a worse position then if they had not been sued

b) Encourages litigation

(1) Research shows that if you had to pay for other side’s litigation expenses, disinclined to sue 

(a) (  some reformers argue change to English system to discourage litigation 

3. Exceptions to American Rule 
a) One-way fee shifting

(1) If Π wins, then Δ pays litigation expenses; if Δ wins, then they have to bear their own costs

(a) Used in a small class of cases, authorized by statute for encouraging litigation 

b) Bargaining around it through K

(1) Loser pays provisions is acceptable

(a) One-way fee shifting is more suspect

(i) In CA, will be read as being reciprocal instead of void 

c) Common fund cases (i.e. class actions)

d) Sanctions for bad litigation conduct 

e) Sometimes family law cases 

4. Conflicts

a) Hourly rate

(1) Incentive to drag out the litigation so that they can get a large fee

b) Contingency fee

(1) Spread the risk and not do as much work

(2) Try to minimize their exposure b/c it is very risky

c) Ethical issues – Evans v. Jeff D.

(1) Settlement proposal offered to pay money to Π, if there was a waiver of attorneys fees

(a) Conflict of interest, b/c asking the lawyer to sacrifice the lawyer for the client

(i) CT has since held that it is permissible 

(a) Originally thought  many settlements would use tactic
(b) H/w in reality has not been used that often
B. Calculating fees 
1. Methods of payment

a) Lodestar approach

(1) Sometimes w/ a multiplier (to compensate for additional risk)

b) Contingency fee model

(1) Sometimes w/ gradations at reduced marginal rates of recovery 

c) Auction model

(1) Lawyers would bid for how much they would take the job in advance

(2) Then the lowest responsible bidder would be awarded 

(a) However, this has a problem as well

(i) Individual of class have small stake and ( little incentive to find best lawyer

(ii) ( judge has to substitute his judgment for that of the Π’s

2. High fees are Ok

a) H/w dissent states that:

(1) Comparison b/t award of damages and the award of attorneys’ fees shows that it is not reasonable

(2) Unreasonable b/c no client in their right mind would pay $245,000 to vindicate a claim of $33,000 

(a) City of Riverside v. Rivera – civil rights litigation, where $33,000 awarded in compensatory damages and $245,000 in attorneys’ fees.
(i) Award of attorneys’ fees was reasonable, b/c it is a civil rights case and not a private tort suit and therefore it is vindicating an important constitutional right.  Also want to encourage litigation and the high fees can act as deterrence.
b) Nominal damages are not sufficient for grant of attorneys’ fees
(1) Need at least an injunction (trend)
3. Common Funds
a) How are funds determined?

(1) Typically, the cases settle, so who has the incentive to negotiate a settlement?

(a) The individual Π’s do not, b/c their stake is so low

(b) The attorneys on either side have an incentive

(i) Therefore they will oftentimes make an arrangement that is beneficial to them, but not very beneficial for the Π’s

(2) Even if there is a settlement, judge has to approve it

(a) Therefore there is a question as to how a judge knows what is reasonable 

(a) In re Synthroid Marketing Litigation - ∆ claimed that generic drugs were not as effective as their own drugs.  Research concluded that there was no difference, but ∆ delayed publication of report.  Suit filed and Π’s asked for a contingency fee arrangement (as opposed to a lodestar method).  TC found that this was a megafund and that in such situations, they were going to place a cap on what the attorneys can recover.

(i) There was error in use of this cap, b/c creates weird incentive structures.  CT suggests that a better way to do this would be to try and mimic the market by having an auction.
Remedial Defense
XXXI. General

A. Types of defenses

1. Unclean hands

2. In pari delicto

3. Unconscionably

4. Estoppel

5. Waiver

6. Laches

7. SOL
XXXII. Unclean Hands and In Pari Delicto
A. General

1. Rationale

a) Don’t want people to use the CT’s process to ratify bad conduct

2. These defense are always brought up, but rarely succeed 

B. In Pari Delicto

1. Available for either equitable or legal relief 

2. 2 part test

a) Balancing – is the Π equally at fault?
b) Is there a public interest that precludes the suit from going forward?

(a) Pinter v. Dahl - ∆ sold unregistered securities to Π.  Π then sued for rescission b/c the securities were not registered.  ∆ argued that there should not be any rescission b/c Π was equally responsible for the wrongdoing (in pari delicto).
(i) From the facts, don’t know enough and therefore remand to TC to determine whether Π’s conduct was as bad as ∆’s (balancing)

C. Unclean hands

1. Only available for equitable relief

2. Does not require balancing of the conduct of both parties

a) H/w equity CT’s have a lot of discretion and ( CT’s may do balancing anyway

XXXIII. Unconscionability  

A. General

1. Only applicable in cases of K, not in any other cases
2. Traditionally, unconscionability was an equitable remedy and therefore only available in equity 

a) However, today, the modern CT’s say that unconscionability is available for both equity and law 

B. Requirements 

1. Procedural unconscionability  
a) Adhesion K is not enough

b) Need additionally

(1) Surprise

(2) Oppression

(3) Hidden clauses 

2. Substantive unconscionability  
a) Overly harsh or one-sided 
(a) Arnendariz v. Foundation Health Psychcare Services, Inc. – EE’s were discharged and then EE’s claimed that they were sexually harassed and that they were terminated b/c of their sexual orientation.  Employment K contained an one-way arbitration clause provision
(i) The K was unconscionable 

C. Severability 

1. Severability – that one unconscionable provision may be struck out and the rest of the K may remain intact 

a) H/w CT’s don’t like to use this, b/c doesn’t deter the bad conduct of putting in unconscionable clauses

(1) If the K writer knows that if there is an unconscionable clause and that it can be severed from the rest of the K, thus leaving the rest of the K intact, what is the incentive to refrain from placing unconscionable clauses out of K’s?

XXXIV. Estoppel
A. General 

1. Estoppel is a defense and ( cannot sue for an estoppel
a) there are no damages or order available 

2. Available for both law and equity 

B. Requirements 

1. Act or statement by a party that is inconsistent w/ right later asserted

a) Fraud is always a reason for estoppel

(1) But is not required by estoppel

2. Reasonable reliance by the other party on the act or statement

3. Injury to this other party if the party’s right is not estopped
(a) Geddes v. Mill Creek Country Club, Inc. – Π owned land next to the golf club and sues for nuisance b/c of all the golf balls falling into their property.  ∆ argues that they should be estopped.
(i) CT says that all the facts are there and therefore grants the estoppel

C. Estoppel against the government 

1. Typical situation

a) Go into a government agency and ask for advice

b) Advice that is received is wrong

c) Act on the advice and thereby suffer some form of injury

d) Bring up the defense of estoppel against the government 

(1) CT says that there is no estoppel against the government 

(a) Lesson to be learned – you can’t reasonably rely on the government 

2. Rational 

a) Pursuit of public interest cannot be hampered by incompetent officials 

b) Collusion 

c) Better to get some bad advice then no advice

3. Exception 

a) If the government is acting in a proprietary function, then estoppel is available 

(1) i.e. acting as a business

(a) H/w how do differentiate b/t  government acting in a proprietary v. government function?
(b) Why is there is a difference?
XXXV. Waiver
A. General

1. Why is there no reliance requirement in waivers?

a) Administrative ease

b) In cases of waivers, reliance is probably a given

2. When would you use waiver over estoppel and vice a versa?

a) When there is more reliance, use estoppel

b) When there is more intentional relinquishment, then use waiver

c) If it is against the government, then use waiver, 

(1) B/c more cases hold that government can waive

(2) Bsut not many that say that government can be estopped 

B. Requirement

1. There must be an intentional relinquishment of a known right 

(a) United States Fidelity & Guaranty Co. v. Bimco Iron & Metal Corp. – Π filed an insurance claim, but ∆ denied on it grounds that Π had failed to file a timely proof of loss.  Π claimed that ∆ had waived that requirement when they offered to pay for the door, but not the other stuff.
(i) CT says that b/c ∆ paid for the door though the proof of loss was not filed, that was a waiver for the requirement of the filing of the proof of loss.

(ii) Therefore, this can be thought of as an “inadvertent relinquishment of an unknown right”

XXXVI. Laches
A. General

1. Laches and SOL

a) Laches are like SOL, but more flexible 

b) Laches are an equitable remedy, and therefore only available in equity

(1) SOL is available for both law and equity

(a) Exception – when the substantive cause of action only has an equitable remedy

(i) i.e. breach of trust – damages are not available, only injunctions

(a) Therefore only laches are available 

(2) Therefore not available in suits for damages 

(a) Then what if Π had sued Δ for damages, instead of for an injunction?

(i) Then estoppel may have been available 

(a) You failed to sue and that is inconsistent w/ what you’re doing now, which is to sue

(b) Relied on not suing and therefore built up good will

(c) Loss of good will and other advantages if the suit is allowed to proceed 

2. Why have laches?

a) B/c of continuing violations 

b) Want to encourage the seeking of preventive relief 

(1) i.e. butterfly ballots – if you know that there are going to be problems w/ the ballots, instead of waiting until after the elections has ended, sue for preventive relief before the elections

(a) If you wait until after the harm (after the elections), then the claim will be barred by laches

(b) Exception – if you did not know that you could have sued 
3. It would have been possible to say that Δ had to file for a declaratory judgment re: this, h/w we don’t do that and through laches places the burden on the Π
4. Re: prejudice

a) Reliance and building up of good will

b) Anything that makes it harder to defend the suit

(1) i.e. lost evidence 

B. Requirement 

1. 2 part test

a) Unreasonable delay by Π before filing suit

b) Prejudice to Δ
(a) NAACP v. NAACP LDF – Π sued ∆ for trademark infringement, during which there was 12 years of inaction.
(i) 12 years was an unreasonable delay.  Though there was some negotiations, most of the 12 years was filled w/ nothing.  Therefore the claim was barred by laches.
XXXVII. Statutes of Limitations

A. General 

1. Accrual – when does the time start to run on the cause of action?

2. Tolling – what will stop the clock from running?

3. Continuing violations 
B. How much time?

1. State CT

a) Legislature determines length of SOL

2. Federal CT

a) State COA

(1) States SOL

b) Federal COA

(1) Pre-1990 – most analogous state COA
(2) Post-1990 – 4 years for all COA, unless statute states otherwise 
C. Accrual – when does the time start to run?

1. General

a) Time of the wrongful act

b) Time of the injury

c) Time of discovery of injury

(1) When the injury is discovered or reasonably should have been discovered 

(a) Not when the cause of action is discovered
2. Rules 

a) Discovery rule

(1) Reasonable time for discovery of injury 
(a) O’ Brien v. Eli Lilly – ∆ marketed drug that was sold to pregnant women and that resulted in cervical cancer to the daughters of the women.  The wrong occurred when the drug was actually given to the women, and the injury occurred when the fetus was exposed to the drug.  Π discovered in 1979.
(i) CT says that she should have reasonably discovered her injury in 1976.

(2) CA – special rules for malpractice 

(a) 3 years from time of injury

(b) 1 year after discovery of injury

b) Equitable estoppel

(1) Discovery rule

(2) ∆ has superior or exclusive knowledge

(3) Status of ∆

(a) Fiduciary – duty to disclose

(b) Not a fiduciary – affirmative misrepresentation 

(a) Knaysi v. AH Robins – date of the wrongful act (3/72), date of injury (6/26/72), date of discovery and cause of injury (12/78), suit filed in 1978.  If there was a discovery rule, then claim would not be barred.  H/w there is no discovery rule in NY.  ( Π argues for equitable estoppel (fraudulent concealment).

(i) ∆ affirmatively misrepresented that their products were safe and ( requirement met.
D. Tolling – what will stop the clock?
1. Something that stops the clock from running

a) It is really the same as delayed accrual.   
(1) The clock does not start running until something happens.    

b) In some jxs, it is when the person is no longer a minor, etc.   
E. Continuing violations
1. Violation is continuing

2. Harm is continuing
3. Continuing violation is causing harm 

(a) Klehr v. AO Smith Corp. – Π claims that ∆ sold them a defective silo.  The initial wrong occurred at the time of the sale, 1978.  SOL is 4 years and therefore would be barred in 1978.  Suit was filed in 1993 and Π argues that there was delayed accrual, tolling and continuing violations.  Π argues that RICO is a special statute and if there is a pattern of racketeering, then there is a new violation.
(i) H/w the CT does not buy this argument and states that there must also be harm.  In this case, the arm was the misrepresentation of the silo, which occurred way back then and there has not been any new harm since.  Therefore suit was barred by SOL.
Conclusion 
XXXVIII. General

1. Where would the P be but for the wrong?

a) There are exceptions such as restitution

b) The usual starting point is the position of the Ps

2. Sometimes the position is hard to measure

a) When there is no good market.

3. With preventive injunctions, you want to keep the Ps in the position to start with

4. There is a competing traditional of equitable discretion…but for the wrong

5. The problem with free willing equitable discretion is the stopping point

6. Injunction cases look more like damages in the starting point

7. Forms of specific relief is trying to restore by kind

a) Specific performance 

b) Replevin is a legal remedy

8. Declaratory judgment—coercion is in the background, they clarify P’s rights before either side erroneously acts

9. Sometimes P ask for D be restored to same position—restitution

a) Sometimes restitution is irrelevant

10. 3 circumstances for restitution??

a) Ds gain exceeds Ps loss

b) P has no other cause of action

c) D is insolvent and restitution gives P a preference in bankruptcy

11. Punitive damage:

a) Exception to rightful position

b) Supposed to deter and punish

XXXIX. Enforcement 

1. None of the remedies is worth it without ancillary remedies—enforcement

a) Contempt—for equitable

b) Execution, garnishment for money judgments

c) Child supports—rare damages that allows coercive collection of money

d) All have limits:

(1) Some closely linked to cause,….certainty, propensity, irreparable injury

e) There are some policies:

(1) Right to jury trial

(2) Crushing liability, et

XL. Final Thoughts 

1. Skills from course:

a) Know full range of remedies

(1) What can you use…sometimes you can use a few

(2) Understand main classes

b) There is a HUGE amt of discretion for judge and jury

c) Discretion means that there is no clear right answers

d) Work through options?

(1) Measureable damages?

(2) Most lucrative?

(3) Other harm?

(4) Things Ds can fix

(5) What does P want D to do

(6) Can it be enforced

(7) Did the D profit?

(8) Should P go for profit or loss?

e) From court’s perspective, look for the best remedy
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On balance, the greater the relative irreparable injury to Π, the less of a showing that there is going to be a likelihood of success, and vice-a-versa
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